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woehermaliel 2 amrgui b Epbaa. wapde pen Supdlpg 7

A) Ggm&@mno°omuuqéx B)
.C) B1&QGevm Gymrebiilé D}
Nutrition in Euglena .is

A) Holophytic B)
C} | Mixotrophic D)

Ce0Cymocemu g6

@euppisit egieylevenen.

Saprophytic

None of these.

QeCpaflud Spsaco. ahs ugleous Cotbag ?

en§@uweivig G doBuim fwr

A)  SeuGLrCueugBande@Guarfiur B)

Q) ediGulLr D)  egGer@umgur.

- Ceratium belongs to the class
A] Phytomastigophorea B) Zoomastigophorea
C) Cilata - " D) Rhizopodea.
FphaaiL. ensdlutisaerd sl :
wmbp (A urpfflub Qegiy efelg e S PsHILGADS!.

sryeord (R) : 3 sgren woandeme wearGansdl Qeandipg.

Gleubgyet :

A} (A} whpd R} @@ sfl, Gugib (R} eerugl (A) alpe sflures aflerésn

B) (A whpid (R Suen®id &fl, Cogub (R) erérugl (A) allpe efluren aflendainée

C) (A syemré (R) peu

D) (A pay e (R) efl.
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Z5A2

Consider the following statements :

.

Assertion (A} : Paramecium is called slipper animalcule.

Reason (R) : It moves forwérd with pointed end.

Now select your answer according to the coding scheme given below :

A}
B)
C)

D)

Both (Aj and (R} are true and (R} is the correct explanation of (A}
Both (A} and (R} are true, but (R} is not the correct explanation of {A)
(4) is true, but (R) is faise '

{A) is false, but (R) is true.

4. JI&aumeueteupiies erg eflure Qurmhaiflpg

A}
B)
C)

D)

eaniiuTamibbles — CourGLmrenurfl
QL seuH@evfur — eTeoL g Wid
emervéeurpublesm — & &G \

g evGarevenumeNemT  — O sev@eur i,

Which one of the following is correctly matched ?

A)
B}
C)

D}

Hyparammina —_ Nodosariod
Textularia _ —_ Elphidium
Cyclamina - 7 Cyclic. |

Discospirulina — Textularid.

5. eeaduraliier gGrruGurlsmii. GeriGumsad Galuyb wenp

A)

C)

@eﬂgpcq B) @mewl Nerey
ue Qe Nemey D) @eupdle ergieyblcveney.

Trophozoite of Entamoeba reproduces by

A)
C)

x[1203]

budding B) binary fission

multiple fission . D)  none of these.



6. Spssco eursdubisaer sasef :

1 aolquidla mpamCGaras seoo 2 flle usryen HNeaald apeid
uredlsll GeruGLEssD HeL Qupdps.

I QuEtGsre soepep 2 Uifldlée plerardlGoeflar apesd uLmé
QLGB EaD HeCUSIng. '
& Bleuppyer :
A) (I]xg,m@ Sy ermey (1) e
B) @ueoGGo sag
Q) ) peumy yermés (1) of
D) @ueoi@b efl.
‘Consider the following statemenis §

L. A microspheric form in Elphidium reprodues asexually by multiple

fission

II. A megalospheric form reproduces sexually by isogametes.

&

Of these statements :

A) .[I) is false, but (ID) is true

B) Both are false

€} (1) is false, but (i) is true

D} Both are true.
7. Ay CrrBurCrfud @Nss g,sulrprrsm - AT
; A} Slu GiB wLdsameard QHTeiL gl

| B)  swuleans pritset Seubdledimhg Ceushleumdlatpg
C) gl CumenGLmbes '@661 eefiliny u@Hudiew SOhHHESD -

D) eurl @hileopliar Gusssdanes @@ﬁj@@m&@m.
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ZSA2 8
Choose the wrong statement regarding neuromotorium :
A) It is small bilobed mass
B) Endoplasmic fibrils radiate from it
C) Located on the anterior margin of cytostome
D)  Coordinates the feeding movement of oral cilia.
8. giGleaaraldr griged alibnn ugdliie sraiu@n generiler Gt
A} eouGerd B}  @CGymbigur |
C) gev@ed ' D) uGev&aSwrr.
Shell of Arcella has an aﬁerture on thé ventral side called
A} Pylome | ~ B) Chromidia
C) Osculum . D) Plakea.

9. &GBuryllafliCupralldr @ Geusiaern Jnsrsdr Gurem gpefl em@@eurs seano

| 2L WBTHOYD, FIeneTHel @s'\mri‘ggrreaqlb STETTIILTER, b UeDs GLges ot -
4A) afiCfwey B) @irj@c&fﬂmsﬁ)
C) o°o(3urrr'r&(8m(86mu.|@ D) o"o(BUﬁi‘T&(BG\)(B@L .

If the shell of Foraminifera is opaque white like porcelain and is not perforate,

the type of shell is called
A) Vitreous B) Arenaceous
C) Porcellanous D)  Porcellanate.

10. &psacuL Qrandh Gevavicug ‘HaNGsrGab’ esﬂ,@'n
)  @uen(® @end 2 uiflsel
B) §Cy urgiflurer Gren® Gené Gedvser
C)  Frao® Geunuil @ersd Glgdsel

D) @uea® wdi 2 fifaer.

x| 1403



Anisogamy is the fusion of
A) two young individuals B) two similar gametes

C) two dissimilar gametes D) two mature individuals.

11. Qarlaraiud Carlur® alarsgeug

A) @@mnépaﬁmaﬂ@ GamhHph

B) GlLr Garaurbseia Gambob

C) 'ug)anmsaeﬂst'n e Cungd _

D) eamfeusmaubden Caumbpod.

Colonial theory explains

A)  Origin of Amphibians B}  Origin of Metazoans

G Miération of Birds D)  Origin of Reptiles.
12. Slaremgdlue Carluri en Seflggeurt

Al s.x_rr)L_em.‘R whoud @maits& Bl anéGed

C GulaflalCard - ' D) SfearQurs.

Syncytial theory was proposed by

A) | Hadzt and Henson B Haec!{el
C) . Metschnlkot% _ D) Greenberg.
13, el prflevCL maweu g SSTONDE ...rvvvvcreverrre Caemaulicamen.
A 2 ey . B)  euenisd
C) ﬁu@&,mt':iq FUBGUTE | D) EerlGL®mSsD.

x 14001 { Turn over
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8

E‘ntalmeba histolytica has no.need for

A) feeding ‘ B) growth

C) osmoregulation | D) reproduction.
Eparamucubpiel a1 berelt LEhe cuaaw Ceibeg

A)  yeurgnélur | ' " B} eevaar

C) | @ Clue s Gl_dveur D}  evurgsghléveur.
Which df the following is a fresh wgter sponée ?

Aj Euspongia é) Sycon

C)  Euplectella D)  Spongilla.

UGUPHIBET 6THETITEY 0T ?

A)  srédud srruCerl. ' ' '
B} sradlub ureu@ul whpib GuaeafHud ariuCearl s
C) sréflud saBul

D) arédlud sruCeil. whpb QusetHwd sriuCen.
Corals are made uiJ of

A) calcium carbonate

B) . calciufn phosphate and magnesium carbonate

C)  calcium sulphate

D) calcium carbonate and magnesium carbonate.

x[140s]
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16. - urellewueiiys Garlurl e alletsdlweurser 2

A)

Bj

C)

D)

ek whHpd G Iiflsh

ifr@iLité whpub CiyevL et

AfsrQuird whpIo Guoéifg

A Qs i sur,

Polyphylétic theory was proposed by

A) Lang and McBridge

B)

Q)

D)r

Greenberg and Preston
Greenberg and McBridge

Greenberg and Lang.

17. Sevauaerappe ag sflurs Qurebdysiong 7

A)

B) ardlev@Lrlin&GL.

C)

D)

eoapgyriGL

Gaeut Gy BerumibiL. e

sresor_ Qg Guirym |

AN

enugmedium

g lGaflur

edlliLmeimen.

Which one of the following is correctly matched ?

A)

B)

C)

D).

Hydroidae
Cystonectae
GaStrozooids

Chondrophora

Velella
Physalia
‘I‘ubulana

Siphons.

| Turn over
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18. ulygud Ig uigue Mo L& Quresd, &£C8p Ger@astulBerar GOUGaes

Qerass® sfures alen_ews CasibOs@ :

Juligwe I

&6 Leupliumenn

urgwesh) Guirr

SicveneGurGearfluesen

ananl Cyr Carréheieren

2

a)
b}
c)
d)
SPEGs :
-
A1
B) 3
C) 3
D) 2

3

r]

= W

i

Nk - %

4.

,

ucque I
1. yCrmiCun@emeur
Beved) Gurgr
QoL rfil Gumrdlwfwr

Lol

guNCumgr.

Match List I correctly with List IX and select your ansier using the codes given

below :
a)
b}
c)
d)
Codes :
a
A) 1
B 3
C 3
Dy 2
=

Stohy corals
Foraminifera

Alcyonarians

Lisf I

Hydrocorallines

r]

b W

Y

powN

List I
Protozoa
Millepora
Madreporarié -

Tubipora.
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19. yepuyalaailes auaaturh ez Syl llé Semwbgeteng ?
A} eméeurl ied_uid | B)  medor plsel
C)‘ CaruCamQev Gaehidr eugeuo D) SerrGamenevi Gt
C@sslﬁcatlon of phylum Porifera ts mainly based on
A)  canal system | - B} lspicules
C) shs;lpe of choanocytes D)  pinacocytes.
20. 'Spamwm swpgeene efluraraipeon groraidaayd :
1 ePydiadle ue e msCarbpb Qm@@rrm sreRriLGADE.
I @@ql..é?%&sﬁ QumpbuTgd HLeur) 2 Wifise ;g@ﬁ:.
111, Glﬁwymrraa SPly_eaer iy swddeny Qeaeflin Qg e

IV. GubureTebwTe &P Sladr apaups@ GaTanL.ameu.

Qs :
* A} Twl®b sPureng ' B} 1wppid I sfurereneu
. C) L IMuwbgb M efurereney D) eardgbd sfureareeu.

Consider the following statements E
L Polymorphism is often seen is coelenterates.
II. ° Coelenterates are mostly marine.

Ill. Coelenterates usually exhibit radial symmetry.

IV, Many coelenterates are triploblastic. : .
- Of these statements :
A}  laloneis correct \ B) land II are correct
C) I, Il and HI are correct D) .all are correct.

x[1a03] = _ [ Turn over
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21. L:Lq.mé) I utgue Ilo e Quresd, &6y Qs»rr@ééaﬁut.@eﬁm @diGsamé

Qanan® sfurer allan_dowus Caipa®

uCigwde I

ureSiell L

i@ eoflur

Syt dleranadi_m

1

2
3
4

S Cardim

c
3
3
2

1

PO S Y

2.

urgquwes I
1. ffev
2. Sea@aTublcer
3.. urelismrhguén
4. ooGluplglor.

Match List I co.rrectly with List II and select your answer using the codes given

a)
b)
c}
E d) .
| sPdPae :
a
A 2
B) 1
C) 4
D) 38
below :
a)
b)
<)
d).
Codes :
a
A 2
B 1
) 4
D) 3
. x[ 1408

List 1

Polychaeta
archiannelida
Oligochaeta

IS - N

0

v W W

» wN

List 1T
Nereis
Acanthobdella
Polygordius

Pheretima.
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23.
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Spbaccuppiet e LD U Ot 2

A weflum GemeShub B) gUCGerGerer g;aam;m

C)  SCuCuresr alfliiimy s D) . GugrGsreflivev GlausutGoeaf.

‘Which one of the following is ectoparasite ?

A}  Taenia solium B) . Diplozoan indicum

C}  Fasciola hepatica D)  Paragonimus westermdni.

gLpanallsaflar ghe oflomallsgn rfﬂmmgmsﬂ ;&L.&sgjeumb@ L Gb
LWETURSSILGD BlenHlane allmhCsmollfles euens wrg ?
B) Ou&uldefllges el@pCarod

A)  umgmees al@hGsmbul:

(o)] ﬁrﬂa‘sré]lll'urrd\) almpSsmios D) Mer@eurwr aﬂ@;b@g;n;blﬁl.

An intermediary host necessary only for the transit of infective stages of
parasites to principal hosts is called '

A) Paratenic host ~‘B) Definitive host
C) Principal host D) Reservoir host.
24. eveQarmevBLrwb etfflemeusd snihsg 7
A)  gder B) priGLrfer
C)  swlarder D) weogdlenmgLr.
Stenostomum is placed under ‘
A) Acoela | B) Rhabdocoela
- C)  Allocoela D) Tricladida.
25. Yenmiit yap { HeVgQFFHE ) oieerrrrnranenes afeviufler @end 2 W gy@b.
Ai saelTe Luw B)  YerGenflwr
Cl 2 @estiyw D} mrmiygg.
Bladder worm ( cysticercus ) is the larva of
a) Fasclbla B) Planaria
C} | Ascaris D) Taenia.
x| 1403 14001 { Turn over
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26. 2 (BEOETULLD «verererermirrmenns LGS g 245 i DedoaRilurgo.
A) veflg Qrélb B) weilg Gelwub
0O wallg sadyé \ D) elige GLo.

Ascaris is an endoparasite in
A) Humarn reétum B} Human ileum
.C) _ Human Hver | | D) Sheep intestine.
27. euemergensl yuphaelld Qpsufiqureane Ggrhmid L eub
A) ymoluenL : B) ' estuen
C) pHlueL D) @euppei srgjmlﬂé)smeu;
Nephridia in Annelida is derived from '
4A)  Ectoderm B} Endoderm
C) Mesoderm D) None of these.

28, ulgwe Ig ulqud I e Quresd, £8p Qar@éatiul Qerar @Dli@asmens
Qanas @ efluren allao_owd CeipOS® * |

ui.Lq.iUéo I ulgwe IO

a) 2L hePubper 1. GomigGugr

b  @sCar HCeurGutLm 2. gGenGuryr
c) ae&rq@grré]@mrr@ﬂo&ur' _ 3. cumanpasl Liapdesi
d) Lﬂ@lG‘G&TGIDG:LDG'\) #1Geon GuLLm 4. pGarelicar
‘ 5. coQurGyprhln.
e ipseh :
a b ¢ d
A) 2 3 4 1
B) 2 3 4 5
c 1 2 3 4
D) 4 3 2 1
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Match List I correctly with List H and select your answer using the codes given

below :
a)’

b)

‘ )

d)
Codes :
a

A 2
B) ‘2
C) 1
D) 4

List I
Acoelomata
Sc}nzocoelbmata
Enterocoelomata

Mesenchymal coelomata

Ly]
=N

5
4

W N oW W
MW R

1.

S o

List IT
Rotifera
Ctenophora
Annelida
Echinodermata

Phoronida.

29. ulgue Ig vigue oo d Qurepsd, £CGp Qar@ssiu.Gerer GHlIGsmens

Qeran@ sflurer efloLomwus Carbos®

ugue I
gyetoT(id LTl av
H66QEHETE Shig 2 i

Heveowres shign 2.0

@ipellen umalldl v
b c d
4 3 1
3 4 1
4 2 1
4 1 2.

a)
b)
c)
d)
@Pdpsei
a
A 2
B 2
c) 3
D) 3
x{1408]

ulgwé I
1. eocwdumlgr
Eifleiv
aflcmsrr@agrr

s W N

<, Shg A G .

| Turn over
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Match List I correctly with List II and select your answer using the codes given

beiow :
a)
b)
c)
d)
Codes :
a
A 2
B 2
¢ 3
D) 3

30. dpsaci aursdlubsenens sHeuafil :

s (A

smyeorip (R} :

@eubpiet :

List 1

‘Crawling polychaetes

Gallery dwellers
Sedentary dwellers

Tubicolous polychaetes

b c d
4 3 1
3 4 1
4 2 1
4 1. 2.

List I1
1. Diopatra
¥
2. Nereis

3. Glycera

4. Amphitrite.

#CLr OulLQuflegdle sflurer Syerey 2 1Lb sSTLRSE

B{condih el emest,

LA sBT_hsTT cuentsd) e Hmgi.

A)  (A) whHpd (R) @uetor@id sf), Cugyd (R} ersitugl (A) allipe eflurer elenéaid

B) (A wppid (R @resiio sf, Gueud (R} aetug (A) elibe sflurer afletaainde

_ C) (A) sl gyermed (R) geumy

D} (A} sup yeotmen (R) ef.
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Consider the following statements :

Assertion {A) ; In Pseudometamerism, the number of body segments is
' constant.

Reason (R) : Growth occurs due to new segmients.

Now select your answer according to the coding scheme given below :

A) Both (A) and (R) are true and (R} is the correct explanation of (4)

B) Both {A) and (F} are true, buf (R} is not the correct explanation of (A)
C)  (A}is true, but (R} is false

D)  (A) is false, but (R} is true.

&\péa eoTL. D6l QI thSGT e S ewug CorbOsd

31.
A)  ysellet — ' S{ETOTL_&H1D
B)  ghiupedies — allhs 50
C)  SlpGumes — UTEEnGT 2_cuiltemaup GTadaBse
D)  eomrirGuwmes — S &ge whpib wGerrendlesr,
Which one of the following is correctly matched ?
A) Auxin - - Ovary
B)  Gibberellin — Testis
C)  Pheromone — Olfactory stimulation
D) Hormone .- Actin and Myosin.
32. GarGeriur erteurald appeamea Gleaerrypiilser o arene 2
Al 10 B) 11
C) 12 D) 13.
The pairs of appendages in megalopa larva are
A) 10 B) 11
~C 12 D) 13
x[ 1403 ] . ' ( Turn over
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W aefiér aramiu@d suameru &l Q@T@UNesT LG

A)  sirab rGarCugilue cueemwiD B)  eeuevQueiledt eusmemnulb
C) Nadlerevauntsy sronll D)  sueuat susremuibd -

'I‘l'ne Ring gland complex pfesent in insects is also called as

A)  Circum-oesophageal ring B) - Weismann's ring

C) Wigglesworth gland : | D) Stephan ring.
Qmeﬁmsﬂ ermuLlebT _srés-rﬂéaemaa SyGuomesr

4A) udeWL Gaes 2 'B) qumn]_@l._(‘é&,a'sr

C) | et o\ Qa6 , D) eoauorele.

White ants' alarming pheromone is
A) - Unidecane ‘ ‘ B) Tridecane

C)  Pentadecane ' D) Limonene.

urelifly Ferdlest -~ agj ?

A) BHrUeflwen B) (B&rruﬁlﬁw

C) SleBerm Gsmom D) a;o&u)rr.

The larva of Palinurus is

A) Nauplius B} Zoea

C)  Phyllosoma D) Alima.

& Heailc g@m@ms\) gpr'rr'r(%@nmcmé FT&G@D Sl gy 7

A) Srir@Qumym a{(BeuLur , B) &mtQ@urym smingurésm

G pemoriyé syl D) &miGurgr @eur fiQgdlen.

. Juvenile hormone in insects is secreted by

A} Corpora allata o B}  Corpora cardiaca

C) Prothoracic gland D) Corpora quadrigemina.

¢
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Fpbacso. aursduhsemens seuefl :

smpp (A} prby Qedsd syiy CQeuome GQelyd Gurg e prdy &yl

Qe wTQHleTHeT.
sryesh (R) : ‘ Sienausel HIdy LTSS (Bg,rr&é'ﬂ Qs ddlerpes .
Gebget :
Al (A Lng')@th (R) @pam®id efl, Cueyid (R) eraviug (A) alibg sfluren aflenédab
B) [A) whHnd (R) @reo®in efl, Cued (R) aratug (A) allbe sflures allersmipesen
C) (A afl yeméd (R) eumy
D) (A seup gere (R) afl,
Consider the following statements :

Assertion (A} : Neurons have developed secretory functions to become

neurosecretory cells.
Reds_on R): They have migrated into the nervous system.
Now select your answer according to the coding scheme given below :
Al  Both (A) and (R) are true and (R} is the correct explanation of (A)
B) Both (A) and (R} are true, but {R} is not the correct _cxplax_lation of (A)
Q) (A} is true, but (R) is false
D) . (A)is false, but (R} is true. ,

Sesteumeueoteupmpenr ergl sflwre QuUIGhHESDg ?

A YComl GurGardlum — au@ulidoeur
B) ewé — et Georweny
C) - oyedom - — g ey Guirtishy
D)  esaufley —_ Guediflyyen.

x 14001 [ Tuin over
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Which one of the following is correctly matched ?

A) Protozoea — Squilla

B) Mysis — Penaeus
C) Alima | _— Triops
D) Cypris — Palinurus.

39. &psactiL ursdluhisemerd seusl

Gadmy (A) o sruuTe Ysdlllen g fal i ennUIETTER 2 (Heume dal Hiéeesor

uhs urieneu Eiper w HGW 2 L wg.
sryeoid (R) @ &ylumes gééﬁlﬁlc&r g,suﬂé;a,;;&m w&Hunrs Sy '(Bg,rrrj)g)&,(‘o’g.rr@
Qem_iryenLwg. '
@leubpiefr :
A) (A) wibgsd (R) @ysor@id sfl, Gueib (R} sTestugy (A) aﬁ\b@ sflures afendan
B) (A whgid (R Qyam@po &, Gbgmb F erertugy (A) elihe eflurer alerdawcey
Q) (A) sfl gemén (R} peupy
D) (A seup syemen (R) el
Consider the following statements :

~

Assertion (A) : Compound eyes of cockroachr are composed of ommatidia and
capable of only mosaic vision.

Reason (R) : Simple eyes of cockroach is mainly concerned with image
‘ formation,

.N_ovs) select yoﬁf answer according to the coding scheme given below :

A) 7 Botﬁ {A) and (R} are true and (R} is the correct explanation of (A)

B) Both {A) and (R} are true, But (R} is not the correct explanation of (A}
C) :{AJis true, but (R)Is false |

D) (Al is false, but (R) is true,

.
x[1403] - [14001]
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40.  SllgGomresrast ..oocvvernnin. gyulileentes arssin@ing.
A) 2.8 pi B)  mremupefen
C)  prendléerr D} Qe Soargib.

Pheromones are secreted by

A)

C)

41. &l o 2-maureudlaT ey

A)

C)

salivary glands

endocrine glands

2_cuoTey LG&M’@]ED Sieney

2.NISGID SjeTay

B)

D)

....................

B}

D)

exocrine glaxids

all of these,

© Glurheg 2 ererg.

BHEID ByeTey

@leneu eSS0,

"The amount of deposition in pearl formation depends on the

A)

C)

42,  FPpssetil. auThElumsmets seae

. gD (A)

ergaid (R} : erégsds  pbled

degree of eating

degree of irritation

2 BeuTeugl Geame.

2 &&gmebt

B)

D)

degree of swimming

all of these,

wrég s Sbled wHpd s Hfleb Gramin gty Cnysdie

sphfldigun, SfLgs  sfied

2 &8gpeabn &iphilfiepnd 2 Heurdleme.

@\euthmyelr :

(A} wpnik (R) @@ s, Cueybd (R} arstrug (A) elpe sflurer efenéeab

(A} whpd (R) Gueio®d efl, Cueud (R) eretugl (A) b efluren aflensawdie

A)
B)
0 (A e gemes (R) souy
D) (A seuny syeme (R) s,

14001
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Consider the following statements :

Assertion {A):

Reason (R} :

Both lactic acid and acetic acid cannot be produced at the same
time.

Lactic acid is produced by aercbic pathway and acetic acid is '
produced by anaerobic pathway. '

Now select your answer according to the coding scheme given below

A) Both (A} and (R} are true and (R) is the correct explanztion of (A)

B) Both (Aj and (R} are true, but (R} is not the correct explanation 6f (A)

Q) {A) is true, but (R) is false

D} (Alis false.'but (R) is true.

43.  pap@sdudl euetiuller wedlu smyed agl 7

A) 2_GUoTEY B) g6

C) Qewpes o5 D) acoremmiby.

The main purpose of Oyster culture is

A)  food B) their shell )
C)  artifictal pearl 'D) lime.

44, @ 2. BeuTeUGDHHTE Ap&hsiu epeliGILITHer

A) IUr&emBL B} Gadamsl

C)  srandlQGumede D} @emeu JDTTHFGID.

The chief component of nacre which constitutes the pearl is

A) Araguite

B) Calcite S

C) Conchiolin ) D) Al of these.

45. Guégr eissia gamaemioiy uyaud ep gl igluamls SPUiuGHDg ?

Al @

C)] ursb

x| 1403 ]
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Adaptiv.e radiation is studied in Mollusca based on |
A)  shell | B}  mantle
C) foot DJ‘ ctenidium.
46. plepdly Sefldr Gerd 2 Witaenen ereucumny; cuflensiiupseomo ?
a)  eLyagr — oudarCarflur — SgréasGurCeflur
B) JgréemaCurCafiur — Nemrgpenr — enuSlenGeorfhur
Q) %mnﬂlﬁléwdugmn - e Gerflur — Siyr semsGurGeorflwur
D} dumrﬂ@mnﬁ]mrre‘m@mrr — Nermagieor — GLmebl QurGeorflwr.
The sequence of laﬁﬂ stages formed in the starfish is
4A)  Dipleura — Bipinnaria — Brachiolaﬂa
B)  Brachiolaria — Planula — Bipinnaria
€) Amphiblastula — Bipinnaria —a Brachiolaria
D)  Stereoblastula — Planula - Dolibla.ria.
47, wsssdol Epssdabpist dhE ceEW ETTESS 7
A eurdeSur | B) adppésrdise
C)  ghuyssmelesr D) goassrdsd.
Pear] oyster belongs to
A) Bivalvia B) Gastropocia
C) Scaﬁhopoda D} Cephalopoda.
48. dpésauappet g @bdu apHgis il eeTtu@D ?
A)  weGum | B}  emwigeve
C) GusdLen D) NensGom.

Common name of Indian pearl oyster is

A) Unio B} Mytilus
C}) Pecten ’ A D} Pinctada.

x (1953 | {Turn over
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49. sr&GorderTaaien Lmterflur eriteurCeor() Qgm_fyenLw e &HCerrQLiD euriteum

wTE ? B
A) fleGarflur B) e&dlGarmyenigwsv
C) eoulerQerflumr evrteur . ' D) Sy &AIGwrr eurrflwrr .

Which larva of Echinoderm closely resembles the Tornaria of Saccoglossus ?
A)  Auricularia B)  Echinopluteus |
C)  Bipinnaria larva D) Brachiolarié.
50. &Ppssmdmcubpet aeea a&sCarTQtD eneun Sael @é\)mso ?
A) muxﬂs&r@s_mrﬂmrr & Sgnéaag](BanGeurﬂqur
B) ea&osCammyeaplqudy & GoolGuryeant iguen
C)  fiseCaflur & (Bg_rr&](glurrGeorﬂu.lrr
D)  LmiGerflur & Qmaﬂgr‘r.
Which of the following are not echinoderm larvae ?

A) Bibinnaria & Brachiolaria - B) Echinopluteus & Ophiopluteus
C) Auricularia & Doliolaria D) Tornaria & Veliger.

51. . erdlgur Qéo%qurr&,rrr'r(BL.a;L_rrmL_dsr ..... rerrreeernars e piou QuppsiensTd &8l
Lﬁm@ :

A} grfué aroferden
B) Gy @L-sfe flavegg surapb geiteno
Q)  esyml@
D) @l .gqémcmﬁg;mb
The Ascidian has affinity with Cephalochordata by having similar

A)  atrial complcx . B).  sessile nature -
C) thyroid D) all of these.
52, @g}@uqmg,gﬂéo Spmb mq.eﬁ\mrrm By S a;srﬂlq.mrraﬁ\m .................... uheussice
sTntLGRDS.
A} @erd 2 i) . Bl wfied
C A wgognb (B) QB D) @euppiet ergieyblcoemen.
" Dorsal tubular nerve cord is seen in the ......... rrereanens stage of Ascidia.
A) larval ‘B)  adult .
C) both (A) .fémd (B) D) none of these.
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- 53.  Qeprwreur sra'm_:gg‘ -
Al el Gureug Bj oL BGug

C) wleoull® eés Qurfliug D) @eupmeh srg;sqtﬁls'ué)w.

Herdmania is | |

A)  viviparous o _B) oviparous '

C)  ovoviviparous D): none of these. |

54, oflqureler Qe il LGSle @@qtp@m &I oot Qmaﬂuq@ o (Bun'sur;p

SIGODLILY
Al gLyb , B)  gufGumrt
'C)  Quflemiguib D)  Guidldeur,

In Ascidian, on etther side of pharynx occurs an ectodermal pouch called as
A)  atrium B)  atripore |
C) ' pericardium - ' - D) papillae.
55. Siflgqwen Epsscoapnet ahs eSO STThHS 7
A) oy pEIGHTa el B) sooe WgEHTaee
é] UM @g;@;rgrfcwﬂaeﬁ D)  euli2 (b eurd 2 enL_wedr,
Ascidian belongs to
A] Hemichordata . B} Cephalochordata
C) ' Urochordata D) Cyclostomata.

56. 2 bllevCLrwraller HCurLefs @erd 2 i ahg syilie ﬁgcugsang Cairliges
C apevd @) 2 fluns 2 BLIDSsHD ?

Al e@gymL@ & : B) Sigyced epad
C) eeiye | ' D) QeiCumss &y,

The neotenic larva of Ambystoma can metamorphose into adult when treated
with the extractions of

A) thyroid gland B) pituitary gland

C) liver D) gonads.

x ' ' 14001 | [ Turn over
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57. oflquaiaailer aeri 2 GOIHDD ahs oG eTibss 7
A) amrGemGinL Gureen | B) ©  urGrrGuoL Cureeu
C) Oapd G Guresv D) SpGuréy setemoyenwg.
. In Ascidians, metamorphosis is

A) Holometébolus B) Paurometabolus '

C) Hemimetabolus D)  Retrogressive.

58. @® 2 ifler Geor @é‘mnﬂm@ Slebreor(pib. @emo 2 Of LTyseh 55&5 aneuHGis
Qe,rrerrmuu@cug,g)@ aTebrenr Gluwir 7

A) unngﬁ@mn@gmﬂﬂm} B} - &é\eb@mrr@gsoﬂﬂdu

0 HGumLeh D) a#CLrOgeRda.
Retention of larval characters even after éexual maturity is known as
A)  Parthenogenesis " B) Phyllogenesis

C)  Neoteny ‘ D) Ont,ogenesls..

59. efgpé';saim_mj)@a? argl eureumressh) 2
A} sr&Qar@Qenmraey ‘B) fGurenm
C) ﬂr;rrso‘raﬂ(%mrrau@urmrr - D) GuiCprenwemes.
Which one is an Urochordate ?
| A)  Saccoglossus | ﬁ) Ciona
C) Branchiostoma D) Petromyzon
60. craGLrane Qe Gréle'b sresTiLD ?
A sfquelier Qs
B) um@mn@@aﬂngéﬂs&r Glaaysil enuigel
) quc.‘?gneém'_@g,sﬁ |
D) Oeaeh & eyl Liairemid
Vanadocytes are present in |
A) Blood of Ascidian _ B) Branchial sacs of Balanoglossus
C} Nephrocytes | D}  Hypobranchial groove.

x[ 1403 ] . [1a001] -
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61. @Gm@#gnGLnLdﬁlé agsene Genem Gigaeiael sraoiL®D 2
A 3 B 4
Q0 5 | D) 6.
How many pairs of gills are present in Neoceratodus ?
N3 S B 4
C) 5 D} - 6.
62. giCurfiCsar o plyset agléd sremL@D 7
A)  Qawmpd Sdrser | B) . gemrusy
C} SmiCurQeumreey ‘ D) euflwr.
Arborescent organs are present in
A) Cat fishes B Anabas
Q) Oi)fﬁocephalus D) Amia.
63. 'weha,enerr' GDEs FeupTen euréddlub c@ 1
A) GL_.G\)@EIT&@ VI TS Guw§é>
B) 2pp Cprés awass Curge
0  anmppreflé geyaop LG Gaé Crdaaea CeuslliGid
D) - @en slfgen G\a;tl:@t.rr@&urré:éu T S P&HSHULGHID.
Choose the wrong statement regarding Eels :
A)  Migrate from fiver to sea
B) Migrate from sea to river
C) Spawn once in a life time
D)  Hatchlings are called leptocephalus.
64, mdoaemer GHGs sflurer eursflub erg 2
A)  Hbp Cprée euaems Curge
B) QeulBLrleurwey scnemrmy Wit eeig) Senpdaiu®id
C)  anpprefles uegpenp '@aﬁ&@&é«m@m QueuefiIBin
D)  GQedléasa Qeefiiues_wrs Geflyb.
x ' _ - [ Turn over



ZSA2 28
Choose the correct statement regarding Eels :
A)  Migrate from sea to ﬂven;
B}  Leptocephalus is known as glass fish
C) Spawn many times |
D) Possess visiblg rscales.

65. st Wwaedlé -G.grreh@m Qyweurpal .............. o
A) EgCarruomg - _ B)l
0  AgrevCeuriiGifgh ' D)
The earliest amphibians arose from
A)  Actinopterygi B)
C}  Crosspterygii D)

66. meguire Warsellér sTaiL@D Upé s L &b
A) Seréarup Cedldser B)
C) wairL@ Cedleoser D)
The exoskeleton of lung fishes is
A) Placoid scales B)

C} Ctenold scales D}

& QGHs - Gorarg.
19 LIGOTIT

Geupmish e giaydléenso.

Dipnot

None of these.

aadermL® Qadoser

arermL® Glodlaser.

Cycloid scales

Ganold scales.

67. @\ cwrpalseficr mmﬁéﬁuﬁ@ gpud Bapasellsr sflurer cuflamsew aRm@iy. : '

. A)  edlev @yweurpeydid, a;l;,siulq.(?»tun@ml.ﬂsiu, @&ﬁ@mnm‘ﬂq&n, 2T

B) @&HCuredigar, flev Gumeurpapiifl, oyev

q.@tﬁrr@emﬁ]a’m, SIERTT

0 yeugCurGenien, @sHGurelgar, v @weurpeypdifl, siauyr

D) &fleiv @@mrr[pmuﬂrﬁ, @6HCuredig e, gy evigGur@enSen, sepn.

= 1408 ] [34001]
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Identify the correct order in which they appeared in an evolution of amphlbla;ls :

A)- Liss amphibians, Osteolepis, Ichthyostega, Anura
B) Ichthyosfega. Liss amphibians, Osteolepis, Anura
C)  Osteolepls, Ichthyostega, Liss amptﬁbians, Anura
D)  Liss amphibians, ichthyyostega, Osteolepis, Anura.

68. @6FICurevgdhdv Gmeupall 2 Geourer &red
A BBeduSwes sreud B) Gablfwesr sreud
C)  geoquredls: sreb D) NG eSlwev smeuid.
Ichthyostegids amphibian was appeared in
A) Missi;sippian pérlod | B) = Cambrian period
C)  Triassic period : D) Creta¢eous period.

69. ulgud Isp ulgud II 2 et QuT®mES), EBp Cardssiu{Rerer GHlURsamens
Qereao® sfurer aleorowp Carbs® : '

U igwes I ucigwes I

a) GelGLrearem 1. emed whpd prdGud

tb)  yCom G miigiyen _ 2. Qger HGLHsS mienyuie
‘ st
o)  PCurQerGLmLev 3. guiflsarale peaylye
' WSetT :
d) Gerdefwev : 4. g eavdlCredureailen
' ' peoydyés Seir

SR
a b c d

A) 2 3 4 1
B) 1 2 3 4
C) 3 4 2 1

Dj} 4 2 3 1.

x[1408]" | : , , [ Turn over
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Match List I correctly with List IT and select your answer using the codes given

below :
a)
b)
c
d)
Codes :
a
A) 2
B) 1
¢ 3
D) 4

70. Sp&HeHoIL smpheEeT hs :

L.

1I.

1L

V.

@eubdle -

List I ' List II
Lepidosiren 1.  Nile and Zambesi
Protopterus 2..  South American lung fish
Neoceratodus 3. African lung fish - z
Lophius 4.  Australian lung fish. .
b ¢ d
3 4 1
2 3 4
4 2 1
2 3 L
@mguﬁ’gé\) Setaefles oo préls geoaraer srauiu@dlepe '

S ar@dider oo QaLTGEymoe lﬁdﬁ

GpLorss  @ouppers olerig o sLdldieha paalGsS
@LrGuutsd) Qebdleérpg '

Q® sarflseen e eiaeT e SempheD.

A Iul@b sPurearg”

B} IwpHmd II sflurearemeu

C) L Ilwppod I sflurereney

D) | Soarsgin sflurearae.

x[1408]
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Conéider the following statements : -
L Internal nares are present in lung fishes -
1. Ang‘uﬂla isa catadromt)us fish )
Il  Eel mlgrates from marine to fresh water for spawning

BA'A Members of the order. Dipnol are commonly known as cat ﬁshes

Of these statements :

A) lalone is correct . ~ B) land I are correct
A

C) 1, I and Il are correct D) all are correct.

71. qgn@émﬁ\_m BQaEle o een DEgeuran Qersdacllan aamaiiboms

A 1 B) 2
c 3 o D) 4.
The xi'umber of soft hooks on the neck of Draco is
A 1 ' B 2
c) 3 _ D) 4.

72. §o@um|j(‘amrr(3§rrmrrmm G&PEE gmg&m surshdlub arg ?

Al QOUD DT YEG 2-cleig

B) Qarrmq Gg,amy srso'r@]u) am@é&uu@m %, .

C)  petrlenguivy ng‘rrafmau UG FTTHSE

D} @a.mﬂ@tb aﬂmx&:@

Choose the wrong ‘statement on Phrynosoma

A)  Dorsal crest is present B)  Also called as Horned toad

Q) Vertebrae are procoelous D) They arcé ‘-\fiviparoi.ls.g'@ |
73. a;asrrrucﬂt_ ms&ts!am_@wrr@ Gidle &rrewruu@w

4) . FCarefur o B) @5£Gmrru®uﬂé]mwrem
C) yGymiGumemgen D) srrGrjnﬂG\u._jrﬂé]udn@.
Anapsid skull is seen in ;
A) Chelonia "~ B) Ichthyopteryglans
C) Protosaurus D) - Sauropteryglans,
x[1403) ‘ 5. - [ Turn over
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74. safeueteupies Tl PUIGEH alms

A)
C)

Qurlermaraimenelé B) oL bardtenLalé

L MG mevemelE D) QumafGuneven edls.

‘The skull of reptiles is

A)

Q

Monocondylic B}  Dicondylic

Streptostylic ‘ . D)  Monimostylic,

75. &pésaoiL cursdlutisenend seuedl :

gmbmp (Al : emfeeieuprle @erd 2 uflfl UGusdld Qsaeins apad

sreur ) é,aﬂs&rgocm .

eryesid (R} : pdireusrLhsay et sieneu meoquiyen apeld seurdsdlemen.

@euppier :

A (A) oppid R Grendid s, Ciogd (R) g (A) b sfure e

B) (A upgd (R} Gran@d sfl, Cogib (R) g (A) allpe sflurar efenéanae
C)  (A) sfl yeores (R} seun

D) (A) seup gemme (R) el

Consider the following statements :

Assertion (A} : Reptiles during the larval stages respire through gills.

Reason (R} : In adults they respire through lungs.

Now select your answer according to the coding scheme given below :

A)

B)

Q)

Dj

" Both (A} and (R) are true and (R) is the correct explanation of (A)

Both (A} and (R} are true, but (R} is not the correct explanation of (A)
{A) i1s true, but (R) is false

(A) is false, but (R) is true.
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Qerudgpflur .......ccecc.... . &G @am_(.‘?uu Qe 2 iflures S\mhsg.
A} Seramell wHpID @@mq@aﬁl&a‘r B) @weurpaiest whpib esmteuen
C)  2enficussl DD LHEDELBHEN ’ D)  upeneusel o uTeTL g &,

Seymouria was the connecting link between

A) Fishes and amphibians B)  Amphibia and reptiles

C) Reptiles and birds D) Birds and mammais._,

grﬂmnuék.rr oedsrenL Guirig éir QUGS @flew ahi sreTiLGog

A God O ibués wibmud ey SpretL e - |

B) et eytillLme wppib svgeurCuorees #Gp

C) et gy Lmes, svgeurCuree whHpid GauryGLTEOse

D) Seir @i Lrés whmnd sugarGores GuGe.

The fossa in the Euryapsida skull is bounded by

A)  Supra-temporal and post-frontal

B) Post-orbital and squamosal below

C) Post-orbital, squamosal and quadratojugal

D)  Post-orbital and squamosal above.

S PHSHCTITL. U SHNIkIE e0eT s e :

gnibm (A) : emIteue Hlevgens eumPlibms GClaN oL emeu.

sryeie (R) : s@G:p ULekser @GUUSTS®, stfauctauppred Qeuphaquwrs
| Blexgdler cump g gi.

@leubyet :

A (A} ovhoid (R) @pas@in sfl, Cuanbd (R) eretiug (A She sfuren edardeid

B) (A whpd R G ef, Cugib (R) sretug (A) albg eflures efleréanda

C} (A sfl gyeorrén (R} geum |

D} (A seup syemés (R e,
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Consider the following statements :

- Assertion (A) : Reptiles are terrestrial in habitat.

Reason (R} :  Conquest of land by reptiles is due to the presence of embryonic
mernbranes.

Now select your answer aoéorciing to the coding scheme given below :
A) Both {A) and [R) are true and (R) is the correct e.xpla-_nation of (A)

B) Both (A} and (R} are true, but (R} is not the correct explanation of (A}

C) {A) is true, but (R) is false ‘ .

D) {A) is false{ but (R} is true.

anrigeiiuet syl Gevs urgsr&dng

A) Gamev | ~ B) s

C) opever D) &éeliyen.

Hardenian gland is pi'otecting

A) Skin ‘ B) Eye .

C) Brain D) Liver..

2evgflé ( QpmULs Camflaet ) Q;iﬂ'@fb HTO&HeT

A) cgd-ué](BrjaSlmir o | B)‘ %U&rﬂémn: | -
C) . 3Gy | D) sodfser wppn Crdhur.
Ostriches are found i '

A) Australia B} Africa

C) Arabia D) Africa and Arabia.

Qbs Lpeeulles eudler uhaer o eireng

A)  Opeuys Camfl B) dlal .
-C) Gl uledr | D) . tdCurnGLféev.

The béak of birds are toothed in .

A) - Ostrich ' B) Kiwl

C)  Penguin ' D) . Archaeopteryx.

x 14001
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82. lﬁleo Gurr[p‘ UDeReL WTg 7
A) sroen |
O g
A terrestria; bn"d.'is
A) Gallus
C) Raphus

83. soyueHiiie oumgid ugjsmm
A erge |
Q) -mLGﬁmﬁq._u.lrr
A _shore bird is
A)  Laurus

€C) Diomedea .

A A aﬂ;ml]surre,
Cj' e -,
Digestion in birds is
A) rapid

C_) moderate

84. upecusefie Qe ....... .

85. aitGemflué ez GOD pHaeLUY euLpamallen 2 eterg

A) el fls

Cl. swe

Cursorial or running feet are present in

A)  Ostrich
C) Eagle
I F-143I _x| 1403]
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B) e Gpmiwb
D) e _freme,
B) Dinopium
D) Stﬁrnus.- '
B) . Gumgensliev
D) grevapensn.
B) Podicipes
D} An.l'lmga;
oL Qupiding.
B) G\mggsuﬁa
D) s Gugeurs.
B) slow
D)  very slow.
B) @oal
D) curr{f,g:.
'B) Sparrow
D) Duck.
[ Turn over




Z8A2 36

.. 86, usedé upensusst @@OUL. LTHPD GFlaghHE SOP&&LLGHDE ?

A e @i wrHpd

B) upme @EUSiL wrhpbd

C} ued @ouiL wrhpb

D) usé Qurdpefu Goul wrppb.

The migration of birds during daytime is called as

A)  Daily migration B}  Seasonal migration
.. C)  Partial migration D) Diurnal migration,

87. Jemsummeuanauiplie. argy sl 7 C |
i. upencuseflesn wesoeL Cur@ &,rra‘ﬂglb Céurréo QuodvedwsT@ibd

I, upeeissilsr wamaL Cuiiyd agibyaser GETRL@ Garn Goamtbg

ST eRTUUED
. upseseaier wemen. Gurliger Sler QarLiy ugd uese Curenpg
IV. upaeusefiic, wattaL Qurf sy eToreaTg.

@mrbg’ﬂs‘o‘ :

A)  Twl@b eflurerg B)  Iwhmib I efureremal
C) L Ilwpge HI sfureres ' D)  seenpgin sfuraree.

Consider the foliowing statements :
L In Aves, the skull bones are paper like thin
. In Aves, the skull bones are firmly fused with each other.
HI.  In Aves, the posterior portion of the skull is spongy.

IV. In Aves, the skuli bones are hardened.

Of the statements :
A}  1alone correct "B) Iand Il are correct
C) I, II and Il are correct . D) all are correct.
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88. osHeubTen WwHDIb S e WTen G sré\e'u‘ sreLuang 7 ‘
A)  Seflaen B) aurggser
C)  SOarQeenser | D) sugd@ash.
Broad and flat beak is seen in
A)  Parrots | B) Ducks
C} Finches | D)  Stilts.

89. sl ueHIdEss voalugdeed vhpd wvoalugldebgy swbeust

UGS S0 LDeeUselT Gmgb@arrsﬂ@m aueems Curgee aeaETaTGiousiig sapesrd 7
A)  Geug@ugeoren B) erarg@ygeard

C) dsenen D) suéudyeard.

Migration of birds from planes to hills and vice versa is known as

A)  Latitudinal " B) Longitudinal

C) Seasonal ' D) Altitudinal.

90. d&peu@eueteupper erg sflurs QuTEHEADG ?

A) Quﬂ@@wnéu&m;mn — QU

B) eigCurB_seLer —_ ST Qlussh

C) GeaGamomium — UP&GLD &@ﬂﬁ)
D) (Bjm.s&nq.u.:rr : — BTLQ SHns.

Which one of the following is correctly matched ?

A) Perissodactyla — .Riabblt

B) Arﬁddactyla —  Wild pig

C) Lagomorpha —_ Flying squirrels

D) Rodentla . - Wwild ass. ' |
=[1403] | . - ~ ITum over



ZSA2 38

91. Ghdurallen acralleng urgemiy oty HLrbllseiuc L G
A)  ubumd B) Gugr@er
C) OQodeoer ' D) sdosssr.

The place of "Wiid Life Preservation Society of India" was started in

A) Bombay B) | Dehradun

C) Chennali . ‘ . D) Calcutta.
92. @Eubens UITERTHDHI GEPDD «orrerrereecreernns mﬁm&rﬂe’u 2 chengy.

A)  Oserement B) :q@qe'\)sﬁ

C) pideru _ D) QeresssT.

Natural History Society is located in
A) Chennai B} New Delhi

Q) Mumbai D) Kolkata.

93. gheons Cemby mgy@mnvbﬁ_@&wéﬁﬂu@& Gbdu Copdu wher eg 7

A)  STEIT LUDUSET &FaTTaLD B) &It Gzélu yher
C) arturl Cadu whsr D)  arglyhsT ég,eﬂtu uiﬁl&’;rr. '
The National park in India where one-horned Rhino is protected, is
A) Ghana Bird Sanctuarj B)  Gir National Park

- C)  Corbett National Park D) Kaziranga National Park.

94. cédlard Cpdlu whasr eahp el aaCLargi@ faubgsars

2 (HOUT&HSUILLL G 7

A) et wredr B)  @pdu yed

C) @ furins é‘lriﬂéﬁ) | D}  Oemmé wé.
Dachigam National Park is created for the endangered species
A) Kashmir stag‘ B) " Indian tiger

C) Asiatic lion : - D) Black buck.

x[T403] .
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97.
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@hHw wreretenw ubHBlu Heuprer eurddlud ag 2

A g0k utoaTsmen UIGLCUTE §Ebe Hdu srgse 2_efamen

B) (s srbeurs agmm{gg}'sﬂ'm@

Cl  gaGanr® urgsdaid b peussh o ererg '

D) gdéomadlen stmaﬂ_uﬁ'léo @jcdcr@ adlyes (Bu.rra'ng) 2 g{O&el 2_efeTe.
A wrong statem;ant reéardlng Indian elephant is

A)  ‘external ears are smaller than African elephant

‘B) b?ck is slopping

C'] 5 nails on each foot 7

D)  Tip of trunk bears two finger-like tips.

i@ Cloueranen Ldlaelr Lymofissu@Eng »

A) it an@ B) ariGul Gadlu yhsT

C) eraflyisr Cgélu yher | D) Quflurt syemimenwid.

White tigers are conserved in

A} Gir forest o B) Corbett National Park

C) Kaziranga National Park D)  Perlyar Sanctuary _
@upduralles erps Sieminiy qeﬂmeﬁ LT GISTLILY @USHSD' oTeTImS Gg,rrrprgmfﬂﬁg;gj ?
A 2de 2 es @lug)emes mp@m Qupens susTiigel LITgIeHTUL enowld

B)  2o8 auaalebg B

C) @gbé]mnafﬂe&t _mmaﬁ]mﬁ:@ UTGISHTUL &psib

D) @pduraller cuaralletig eurflb.

Which organisation has lau_nchéd the "Project Tiger" in India ?

A) International Union for the Conservation of Nature and Natural Resources
B) World Wlldlifé Fund

C}  Wildlife Preservation Society of India

D) Indian Board for Wildhfe.

x | ' | , [ Turn over
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98. Qa6 el FlesoreooN ereitg
A) DrOCerGusm B) Guaisv
C) wrdluev ) D) ﬂgnlq.ﬁusiu. '
Scaly ant eater is |
A) Myrmecophaga B) Manis
C) Dasypus ( D) Bradypus.
99. 'mrrcutrr;@ GO‘;IJGUJI'I'G"\)LSWJI’I' flertel srri:a‘,mm.rbgjsi‘rmgj 1
A ';léi(r_r,mrré&do Al (5 F0 B) 2 fnNyCasi
C) '_ S(EMD D) egyrsé.
Manas Biosphere Reserve is located at
A)  Arunachal Pradesh ' B) Uttar Pradesh
C) Assam : D) Gujarat.
100. syiburt, g, @uné, Qb 2y west @@uu& wreneu 7
A preGasey GamLmen B) siube QanLmdr
C) Qedrev GarLmer . D) (Barrl_.rr.s&w.@é:@ QT iSldeme.
Amber, Ochre, Opai. Umber refers to |
A) Nonsense codons | . B) Initiator codons
C) Sense codo'ns' ‘ D)  Not related to codons.
101. G igr flysafiCure @ Carlur’ genear sjefldseurt
A)  daflen B) srframl
0  apmidev - _ o D) Qe
Tetranucleotide theory was put fm_'th by | _
A) Levene ' - B) ' Chargaff

C) Hotchkiss D) Miescher.

x[ 1403



41

102 ulgwé Igp urgud Heoa Gurepsd, fCy Q5n®$5UUL®drm @ﬂS\d@ﬁmeﬁ&
Qeran@ sfurer afleni_ewg (35#;5@5@

utgueé I

- GUG

UAG
UAA

UGA

1

.‘ a)
b)
’ o
d)
TGS
a
A 2
B 1
c 2
D) 1

2

3
3
4
4

c

d
4
4
3

3.

ucigud IX

1. yéd@b Cammebr

gieus @D Gt
gmt‘oun“
4. g

@ N

Match List I correctly with List II and select your answer using the codes given

below :
a}
b)
c)
d)
; Codes :
a
A 2
B 1
Q2
D)

- List1

GUG
UAG
UAA

UGA

S N

W W A s A

List I
1. Terminator codon
2. Starting codon
3. Umber
4. Ochre.

[ Turn over
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103. & péesetor o sFuimenens see :
smdm (A : yrs L@arsssdpe HfCar iensd, @yCurCsrdss,
.66, g, Suif.aer.g ATP, GTP, IFs Qprélach wppl 2. Cers
Swefast CaamaiLBHns. '

sryessnd (R) : N, - COOH gﬁ]én&uﬁ]sb 2_(Haurdab HeoL Glup Geuaor(ib.

@Gutj)rgjm? : .

A) (A vhoud (R) Gyeso@id '&rﬂ,émgﬂfn (R) eretiugl (A) oﬁlr,o@ gflumesr aﬁlmé&m‘n.

B) (A whnibd (R GG sf, Gueud (R) ersrug (A) ofipe sfuren Aaﬂen&:asme‘om
Q) (A) sfl QeoTe (R) seup | |

D). (A gm@ﬁ%m@ (R) &l

Consider the following statements :

Assertion {A) . Synthesis of protein requires amino acids, ribosomes. DNA, RNA,
' ATP, GTP, IFs, Enzymes, inorganic idns. '

Reason m) : It_should always proceed in N, —» COOH direction.
' Now select your answer according to the coding scheme given below :
A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) Both (A}and (R) are true, but (R} is not the correct explanation of (A
C) (A) is true, but (R} is falsé . |

D) {A) is false, but (R} is true.

104. ag sflurs QuUTGSSLILL aldeme 7

A gesrg. 00 0 — @rligHse

B) | 2T .ereiT . | — UT& 2 (heum&&pd |

C) gg.ersitg: —_ QUL 8687 WHImID aﬁ'llﬂéaéﬂe&r- @ylemL #r'(lg\efr
| D) g-gyi.eeng — fGar sfletisemen au.é,g;ﬂ:. |

x[ 1403
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Which one is not correctly matched ?

A) DNA -_— Replication

B} RNA - Protein synulesié

.C) A-DNA —_ Watson & Crick double helix
D). t-RNA — Tran'sfers amino acids.

B).Careney mMRNA-6Slebt S HTED eTeLaeTeYy ?

Al 1 g 4 wetiGrpyh : 'B) 2 PO fiss it
Cl 2 uweanfiGpyd D) 20 fidl ks,
What is the life span of mRNA of Ecol?

A) 1 to 4 hours B) 2 minutes

C) 2 hours 7 D) 20 minutes.
DNA-af¢tr Gy e Sesranés Hlevevenu psetapgedies asczfm@L;ﬁLq,g',g;cur? w2
A) - eumiaen whprd Aiflé B) urélwred
Q) enienOurs D) 5rrme‘n$.

The double helical structure of DNA was first discovered by
A)  Watson and Crick B}  Balbiani

C} Kornberg © D} Thomas.

107. yypworssgdledr Gurg t-RNA-afdér siangGarmedr eggu-1 Gleaemdlaing ?

A  ragteasg
B) t-gif.aerg. afldn Camimen
C)  m-ayt.aeng alldr Cammen

D) g.aerg. alldr e g ee00Cur HusdelGura, @ aufes.

[@s] [Geee] [ Turn over
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During protein synthesis anticodon of t-RNA binds with
" A) rRNA
B) codon of t-RNA
" C)  codon of m-RNA
D) deoxynucleotide sequence of DNA.
108. u .aén.g. gen@amen Geambgd Gprd I ' a
Al ecCLmhyseNGuen B} a&Ceurbly&efGuen
C)  i§.ereir.g. NCmen | D) g .eer.g. uredw@ren.
The enzyme that joins the DNA fragments is
A) Endonuclease , B) Exonuclease
C} DNA ligase D) DNA polymerase.
109. mevl giueneoredr 1§ -yt e ald Qurssh appmen syhes s_sr'r;vsm 7
A) 5 B) 6
Q 4 D) 3.
How many arms are present in the yeas.t\ alanine tRNA ?
A). 5 \ B) &
C) 4 ' D) 3.
110. @@ owvlLrgé Gopsdisr ppsdlu ageid oHpD BFdY Gepsae e
e paidipg 2
A @en tGurdney yen@ammédl  B)  Guev snabgreu peGamned
C) GuresnyGsene @c&r@mﬁ&ﬂ D) SHlgT evaue piaCamnéd).
Which is used to study the struéture of mitotic spindle and nerve fibres ?

A} Interference microscope B) Phase contrast microscope

C) ' Polarization microscbpe D}  Ultraviolet microscope.

x{1408] |
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111. gelléadlt oo 2a@ur@adfichbs wHODTH m@@urr@sw cu@u.lrr&, Gl& gt
Quirapgl, pefillen Geuaid WwrHmd Qu@m ALING)
A)  ugdlpen . B) el aflese
C}  wrBeamgCrrGuLigé epef D) s qqrﬂm&.
When a light ray travels from one m‘edli}tm to another, the speed of light
undergoes a change. It is ‘
A)  Resolving power B) Refraction
C) ~ Monochromatic light D) Wavelength.
112. sdifluss gGerGLmiyselle Qoby wued sdflussd SGuTLGLr aﬂgrrool_ﬂé,
eTdeflues aNNEDT ......vvvreeeriaen, & peoLOLpFng.
A sGarfGuef B  owsCrCLmfl
C) owslrrau@a D) QCGLHGQ@GW&\&W&@.
Interaction of radiation from radioisotapes with photographic emulsion takes
place in -
A) Calorimetry B)  Microtomy
Cl}  Microscopy D) Autorz;ldiography.
113. afCureCemmiefsr apuufiorem Senoly] aget gpevd e fuliu’L g 7
Al afefloy efleneney
B) sl Caupuri® penCaonmsd)
C) GNSSLE aleeray
D} evCaallh aevéigrest miesorGemorméd).
The 3-dimensional structure of haemoglobin was determined By
A) Diffraction B} Phase contrast microscope -
Q) Interference _ D) SEM.
x[ 1408 A 14001 [ Turn over
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114. sepsud @Feior® usseaurl @ S Hasfler cpeuid urrthé&ﬂh:@fb X-sdimener QamadorL_g
A X-edi swellurseb evolisl Curisict
B) &b esvugs gpeod If&gh svGusCrm St i
C) Gumg U8 apeild Uf&en evu&sCrr B -
D) NMR eévQuslCrrevGamd.
The X-ray beam is passed thr;mg}.x two adjustable slits in
A) X-ray 1onjzaﬁoﬁ spectrometer
B) Rotation crystal diffraction spectrophotometer
C)  Powder cr‘ystal diffraction spectrophotometer
D) NMR spectroscopy.
115. d@é\s‘n oapl yee 2 Blygd velldiphg sfflussd Creusliu@Hpg 2
4A) gssdaiy evGusL.CrravBamd
B) g evQus CGorenGami
C)  ymesugr wHpd uTF&EeE enigw eiu@uél;ngeiuGe.nﬁl
D) NMR evOQusl Crrev@amil.
The source of radiaﬁon ‘may be hydrogen discharge lamps in
A) | Infrared spectroscopy B)  Atomic spectroscopy
C) UV-visible spectroscopy- | D) NMR spectroscopy. -‘
116. 2 Wifluedles getr glflwee warp LLSHTLHSSHS THHS 2 geydleIng ?
A)  DNA-allét enww &phdl penp
B) wssems INs0sG80
C)  sdfluses widary GQupp @mémyéaﬂe&r UIGTIT&H NN &HemoT 105
D) eadifluses widery Qubp apessamsst @iHeHED @.l_gemg ST M.

x[ 1403 |
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The application of autoradiography in biology is

A) centrlfﬁgation of DNA
B) sépara_tton of profeins
C) | characterization of radiolabelled molecules
D)‘ location of radiolabelled molecules.
117. @fpmm v eléapenp u@@m EpeuBh ehsabn HoDTETE ?
4)  wrBaimglurGulLmi apesid Guplin’ L epef
B)' '955 Pipgenpuou gefllsapeanns s
C)  obs aBapaLL @aﬂé.a,tj)@wauefr
D} @eubper ergieySdoenc.
Which of the following statements about monochromatic light is incorrect ?
A)  light péssed through monoch.romatbr
B) _ tht rays with same colour
C)  light rays of same wavelength
D) None of these.
118. gynendulloyel easigre HienGeorshdl aped, saflluRHsiuiiL ©86 2 puisHemen
..g{s'umgj Guflw @m&wam&n LTT&E 2 Seyb (peopidler Guuwi |
A Qg,&.m O e "B)  iflev Sgréayt
C) Owlre QeyGrraii | D)  dflev et &

The technique of visualizing the surface of isolated subcellular structures or

macromolecules In Transmission Electron Microscope is

A) Negative staining - B) Freeze fracture
C]  Metal shadowing D) Freeze etching.
X [ Turn aver



Z8A2

48

119. Qar@&siulGereraand G BiSorCammsdllle LUSTLHSSLLED Quﬁ@eﬁ@@

120.

121.

122.

Ceveinev cuens: G)évene
A glfemretrg s | B)
0 oCureSymGolgé D)

S&CyTGuL g s

gribenGiL 6.

Which one of the following is not a type of objective lens used in microscope ?

A}, - Aplanatic B)
C) Apochromatic | D)
e gl sp/ i iflebr & i é]sm.(‘él;rrrm Gl
2 peur fleiimg ?

Al 4 B)
o 15 | D)

The DiGeorge/Shprintzen syndrome is
chromosome ?

A 4 - B

C 15 | D)
B ESTHTEST 6TebTUG)

A) Qe oy igen Gerd 'B)
o aarrd‘ﬂGsmerQa'n , | D)
Anconis a. | '
A) breed of sheep B)
C) caréinogen D}

Achromatic

Ramsden _

HS @Ggrr@mrr@&rrm @L.pudleurrrs\r

7
22,

caused by a deletion in which

22.

GpLTOIgeT
ey grafidn siee.

mutagen

unit of intron.

PG QU SueeTa| |§.6Tedr.¢f. .gmmﬂd\& ( one turn of helix ) a3 g & e

Py seflGurenl el o ofreresr 7 .
) 12 . D)

10
20,

How inany nucleoﬂdﬁ are present in one tum of DNA helix ?

A) 8 B)

c 12 | D)

x[1408 | (401
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123. DNA eveu wl.pid sgiflues e wrerd G (l CrgCur Geuelis ) ustuBaug |
A afflubs g enend B} sgiflubs @eureveres
C) sdfluss yrméé D} sdfwuss gubler.
| Which of the following helps to radiolabel DNA alone ? |
A)  Radiolabelled Adenine B)  Radiolabelled Guanine

| C}  Radiolabelled Uracil D)  Radiolabelled Thymine,

124. Qeuell DNA-evcud Oareo enrevdll ursefly Ceadlar 2.6rCear Hewse
.................... sret e PphsiIuGRng.

A)  wyremevutGueayes B)  gyrdtevcollusayes
C) oaplyoLGeayen D) @eupmier agebidene.

Event of entering the plasmid containing foreign DNA fragment into bacter!al cell
_ is known as

A) Transformation : B) Transfection |
C}  Hybridization D}  none of these.
125. fleutev gomeren AALCLav aargud Cprdl afld sTamiLEHADS ?
lA) L} GHemE el : ‘ B) OQuiCpr eveuryen
C) p{).Ceremav D} GurelQur emeureu.
Reverse transcriptase is the enzyme present in
A) \ IFungi B)  Retrovirus
) E. coli D} Polio virﬁs.
126. vroyul.L CerhHp awemasalle Gosrer wLTHPSns sjgbu@ﬁgub WTULL  oTUgR
.................... ee SemP&eLLGEDS 7
A) oCesr syeueblen B) 2 mdlurer dhet wrhpd
C) 2 pdubp SHei wrbpd D} 2 @rQarded fiet wrhpb.
Mutant geneé. that give slightly modified phenotypes are called

A) Isoalleles B} - Dominant mutations
C) Recessive mutations D) Lethal mutations.
x[1463] { Turn over
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127. GarLreflés ghull BIHPD SIS, 4E) @@5 S Cerr aﬂ&mﬁﬂaﬂ@gﬁg{
wHOpT® .gp.&('ssmtr sflagang GHiLLg

A)  gerev é]lﬂﬁ. LT HIpiD 'B)  endlell Binigs det wrhpd

C) g ghei wrhpbd . D) | seupsere el Ser wrhpb.

To change the meaning of a codon, ché.nging one amino acld into another is
- called as ' | ' ‘

A)  Ts mutations . B) Chain termination mutations

C) Conditional mutations ) D) Missense mutations.

128. veaflg wylud sapgriale Hpssdm appet abs weap ums&ru@ﬁ;gﬂu@oﬁ\mgj_?

A)  urelGenming - B) cgtﬁsbﬂ@mrr@&dﬂqé]d\)

C)  OuydHfn Seredldlav | D) LyUED) Qurr;ﬂuﬁhum

Which one of the following techniques is employed in human genetic
counselling ? '
A}  Polyploidy ‘ B) Amniccentesis

C) Pedigree analysis | - D)  Genetic engineering,

129. ® wyuE-GG QpTH CaHTLLTH WTTTE Sapli’L g ? '
A)  Ggasl wppd GuorerT@ © B) g whpid LreD .
C)  yedteor whmd GuiLi1gE et D)  euflur whrud L cojems.
One gene-one enzyme fhéory\‘ wa$ proposéd by |
A)  Jacob and Monod B} Beadle and Tatum
C)  Punnett and Bateson D) Luria and Dulbruck.

130. sraanflurs sucmsliufdgsoe aaaens adrut 7

A) eiu(Bquus\: _ B) yelflwé Sugluen
0  QuiGurré ' D) ©OLdGUSH.
Classification based on time is called ]

A) Spatial . _ - Bl Geographical

C) Temporal o ‘ D) . Temperate.

x[1403]



o 51 7 ZSA2
131. g,_mmwe&l awrsdlugens Csrboa®
A cesstsedr gomefl eflewsserse sgradl erangy GLwr
B) olesssddr atssbaddr sl @ssyref aflwés atss syrefl e
amwésﬂu@aﬂtp@ |
C) dlialessd atseb syred aitée G)S}G\J-é)&fb e S PsatLGEpg
D) eoflwbs aiéss syreffler aféss mab Ll olossd ooy
&mp&&.ﬁu@eﬂg@. '
Choosg the wrong statemgﬁt :
A) Mean of deviations -is called variance
B) Mean of squared deviations is called variance
C)  Root meén squared deviation is .callecl Standard deviation
D}  Square root of variance is called Standard deviation.
132. uegTULLL SeTadaelear srgammsaner G&né\%m 2 Hayeug
A) ae-urés G&rrg@anl B) F-Qangenen
C) Z - Gargenes D) t-Cergerem.
Which is used for testing the significance of several measures ?
A) Chi-square test Bj F-test
C) Ztest D) i-test,
133. @yan® wrdset SmiiLig
Al uwsy rﬁé@a:qsq:a‘x B) arsryem fls0ayaye
C)  afles NaCaraye "D} aflesddoar A&sQarayes.

Which involves two variables ? -

A) Multiple regression B} Simpile regression
C) Linear regression D) Non-linear regression.
x[1403] [ Turn over
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134. angeiiev cqueveney B Garl(@ suemgul_m a@ .................... 8 s b al_
2 uQursiu@GHng!.
A e Gpoy 'B)  dlgpe
C)  OgruryCurse - D) Gemeu a@m;am.
Lorenz curve is a graphié method used to study
A) -' Correlation’ - - B) Dispersion
C) Regression | | D) Al of these. | ’

135. eva-<urss Qorgene ooy stndllnss 2 gadlng 2
- A) - emtupp Blene Bl dpiy Qurmssd
C) suwllsnemwubhp lﬂéb‘)ﬂ) D) @ ey semanhgib.
Chl-sqﬁare test is used to identify the
A)  testof independence B) test of goodness of fit
C) test of homogeneity D).  all of these. ‘

136. utgud Ig ulgud Mo & QurEsd, &8P Qardssi erer GHUIDsHmeTS
Qeradn® sflurer afloraug Carps(d : '

ucigwé X Culgwé IO .
a) gl allevdksd 1. Z:'LII\,—QL
. . _— 2 )
b) sgredl ellevéan 2. (X nX)

I(X- X)(Y-Y)

c) wrgurl® Osw 3.

n Sx Sy
d) GLOpas Caw 4 B, 100 .
' X

o Esst : ‘

a b ] d .
Ay 2 1 3 4
B) 1 2 4 3
A 3 1 4 2
D} 2 1 4 3

x[1403]
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Match List I correctly with List II and select your answer using the codes given

below :
List I List I
a} Standard deviation 1. EI—I%QI-

_w\2
b) Mean deviation 2. \, [in‘_’{l_

I(X- X)(Y-Y)

c¢) Coefficient of variation 3. n Sx Sy
SD

d) Correlation coefficient 4. — x 100,
X

Codes :

A 2 1 3 4
B 1 2 4 3
o 3 1 4 2
D) 2 1 4 3.

137. 2 odlés 2 siven ST SHG SHNGSEHD ahHHe Carvereriul® qpuey erRssLuBD
YOG eetan Guuwrdt 7

A)  yehefl eleuy &SR apenm B) wrdifl a@é@h QoD
C) s Hlae yarefl aleurb D) @b Hlee yeehl afleugib.

The method of enquiry in which each and every unit of the universe is studied

and conchusions are drawn on the basis of whole universe is called
A) census method B) sampling method

C) primary data D) secondary data.

x[ 1403 ] [ Turn over
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138. &paacoL euppiel oww et (wepenw Cerrsg gl 7

A)  sgref B) @i

Q) wsd _ . D) Gugsé.

Which one of thé folloyving isnota measure of central fendency ?
A) Mean B} Median

C) Mode - . ' D) Range.

139. Qscicus GprLi flapCaet auoru_jdle awvulysielsmenyd IipgueLw
@akame&)cmmum Qarasi( suenywlLED GE)IT&:G&:IN_@I_GBT Fnig Lt mquJLgﬂem

Quwrr
A) sabauds aerey . Bl et uredse
C} Smebleeir e D) O#&eicus suenguLib.

In a diagrammatic representation of a continuous frequency distribution, the

mid-points plotted against the respective frequency are joined by a straight line
along with histogram is called ' '

A} Frequency curve ' B) Frequency polygon
C) Frequency distribution D) Histogram.
140. e?kpﬁa;swmmr_\)@]m sflwrer eurddlubd erg 2

A) oo Qprdlder urdumfiGeays TG PG BefreSlemeot .geneu gOoales S
CarGoucvedn Lnrrg)r_r)mam_aar_ng]

B) g6 Gprdds ursvurfGaaysr Lyg LrsvLGL ssv- apeid @a&peﬂmw

C) oo Oprdder urremumﬂ@amqusm Qsget BLQUDID Qews. Up&sTyaRNs6r
apeuid SiBeeT Qusserarg

D) g@ Onprddear ursvurfiGaayedt saurCoayard wrhphsener 2 GauTH@Dh.
Which of the following statements is correct ?

A) ~ Phosphorylation of an enzyme is not ;’:l reversible process since it is a
covalent modification.

B) Phosphorylation of an enzyme occurs by protein phophatases

C) Phosphorylation of an enzyme is an intracellular process and cannot occur
in response to external signals )

D)  Phosphorylation of an enzjrme results in a conformational c}iange.
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141. é\@ais.rfa‘ﬂerﬁle’m @Dss sflurer cursfubd erg 2

; o :

A) " e@&Camsv-6-LursuGul -  HefQegréngens -3-UmrevGuL +
oL eapl rréél S8 CLran
uren@uL

B) SlGr&GLmen-1:6-enuevumenGuL. - ﬂéﬂ@agn@qmét’.-&une’m@ui +

ot aanlrrés] K CLmen
uren@ui.
.Q) 5°o1',|r,r$GL_rré\)-6-urre'ruGuL - glefioisgréngans’ -3-urevGul +
' | oL engnl rrédl sfl Qe -

uren@ui

D) @@&Q&ue‘ru-(i-urreiu@ul'_ pGerCweanGe “*“".L colip &G e -1 : G-emuevoumen@uL.

Which of the following statements about glycolysis is correct ?

A)  Glucose-6-phosphate ' —  Glyceraldehyde-3-phosphate +
dihydroxyacetone phosphate

B)  Fructose-1 : 6-bisphosphate - ,'Glyce;aldehyde-3~phosphate +
- dihydroxyacetone phosphate

C) Fructose-6-phosphate - Glyceraldehyde-3-phoéphate +
dihydroxyacetone phosphate
-6- 1somerisati -1:6-
D) Glucose G.phc_)sphate S Fructose-1 : 6 - bisphosphate

142. &pseargud ShCarm syflebseile gyreatavbiGenays nﬂ?u)quséT QamLyenL1
4B Georr aqt&mma,aﬁeﬂ CorpRpHse :
A) 'amémdt, SepLlL G, a;eiuurrg@a‘n
- B) Qmmma‘ﬂ, G@EpL LGl , SyevurtrGLe _
- C) @@Lgmms&r.ammmﬁ,amurrg@é&r

D} @eplL-Cul, Sevurt@Ly, sevugger.

(34 | [ Turn over
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Which of the following amino acids are related with transamination reactions ?
_ . .

A) Alanine, Glutamate, Asparagine

B) Alamine, Glutaxnate;. Aspartate

C} GIutaminc.\Alarﬂne. Asparagine

D) Glutamate, Asparﬁate. Asparagine.
143. oL Qesaon H5E a.g,rrr;éwﬁnla.g,rrgmr&:&eﬁ wremed 7 ' | !

A) er&GLTev B) mnsb@uﬁs?u

C) &&68ymen D) @6 SeeTHg.

The example for disaccharide is /are

A)  lactose B) maltose
C) sucrose - D) all of these.
144 pybysefler enoweller LLagdle sramiu@b Geudlls QuT@msT wrg 2 | ,
A] e Garenowedler B) urenGum @sbiGw_rrrﬂL'.L.rrsb
Q) eﬁzﬂé\e&f ' D) d]s&rrdu@mrr@mrr@gm.

The compound commonly found in the myelin sheath of the nerve is
A)  Sphingomyelin : B)  Phospho-inositol

| C) Lecithin f)) Plasmologen.

M5, ﬂ_éqr&f‘.{é;noﬂaﬁlﬂa&v uq;f,\eu;muﬂé) g BeupTang 1

A

e

eepsGardy aunCal s LTHPLLGADS,

B) uréourfGeaye apoub ADP, ATP wre iHBBILOHDS

C) NAD * e evquDLygpett G&ftés.aﬂl.n.'_@‘ NADH 245 wlrgbg)iju‘(‘aéﬂmﬁa.
D) 3 ATP passapiset LusLu@sslu@ding.

x{1403] |
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Which is not correct reaction in Glycolysis ?

A}

B}
o

13) 0

 Glucose is oxidised to pyruvate

ADP is phosphorylated to ATP

NAD * is reduced to NADH

3 ATP mwlecules are consumed,

146. gl@eoL. sgubardseie asedv 2 piny o pusd Clailaigs

A)

. C}‘

sTéhenl_Qere. B)

T g eneéi e Gumedr D)

In Crustacea X organ produces

A}

C)

' Ecdysone B)

Luteinizing hormone D)

147. evgpmi@ &gialdles Geuened

A)
B)

<)

D)

Brsss8 g SCuran . Sif&Hpg

Gumes. Gebnligh aomirGuomen

euBLLev @eur aort@iomest.

Moult-inhibiting hormone

Status quo hormone.

a{'Gu.lrrmL_st»L oarTu@d apriCurerrs wrHpdlipg

agyrigmhe aprrCorer HCumgen éﬁl@nﬂéaﬁ]mg

@lenes SemeTHgb.

The activity of thyroid gland is

A)

B)

C)

D).

removal of iodide from blood

conversion of iodide to thyroid hormone

_release of hormonal iodine from thyroid

all of these.

14001
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148. goHured Qaraugrrd iy / daealgnrs s_ssuGang 7
A} oaGamrensiyes
B)  cuyblen
Cl ©ophs S faeLw eﬂGun‘qggtﬁs&sﬁ
D} Heendlar. ~
Cholesterol is transported by the blood maiﬁly in thé_form of
A) Chylomi(.:ron B)  Albumin
C). Low density lipoproteins "D}  Glycine.
149. weNgemd 2 husd QH"-IIJILI pyurs Garapii; sudled erg 7
A) @651{5 ETAY . B) HICairGeuls suded
C) eviefld spbeod ' D) unéubigs subed. 7
A fatty acid which is not synthesized by man is
A} oleic acld _ - B} lnoleic acid
C) stearic acid | . - D) palmitic acid.
150, &pésein mrré.é]lu.nﬁ]&,@ené: seue
DD (A ubsiifle prby ms&sﬁ.m},é\éo. e prdysdlyet prbilieng \S\dnr
byoLsSrer prollenpernu el Henors GBHSLD.
smyemid (R} : mrioysdyer epiiy sdeg syodddar smdéd semobgiererg.
@euppiat : |
A A Ll;lj)@jlb R) @gé&w@mb &, Cogub (R) eredtig) (A) c‘ﬁl[b@ sfluren aflendabd .
B) (A} lnrj)@Lt; (R} @yetorid &), Gugd (R}erséfuﬁ (A) Spe sflumes ellendawdoe
C)  (A) &fl yromés (R) peup | |

D) (A) seup syemés (R) o,
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Consider the following statements :

Assertion (A) :In Parasympathetjc nervous system, the preganglionic nerve
fibre is longer than postganglionic nerve fibre.

Reason (R):  Ganglion is located near the effector orgén;

Now select your answer according to the coding scheme given below :

A)  Both (A) and (R) are true and (R} is the correct explanation of (A}

B) Both (A) and (R) arertr'ue. but (R} is not the correct explanation of (A}
C) " (A) s true, but (R is false

D) (A) is false, but (R} is true.

151. B0 2 i.elé Sfle-sry Hevew sndaalu@sgid sTisd Hrouiaer og 2
. ure gmThsé Slreubd
1.  QGemguwbd gmisd Eyeud
. urev@ur. grhise $yeub

IV. e enfuBerl grbse Slyeub.

@mg'jrﬂéo :
A) I, 1 wpgd IV sfluretenay ‘B) I, N opgis IV sfluesarene
C) L Meppb IV efluraraa D) eerdgn sflurarereu.

Major buffer systems that regulate the acid-base balances in our body are
L Protein bufier system |
" II.  Sodium buffer system
IlI. Phosphate buffer system

IV. Bicarbonate buffer system.

Of these : ‘
A) I, I & IV are correct B) I, Il & IV are correct
C) I, III & IV are correct . D) all are correct.

x[ 1405 ] [ Turn over
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152.

" 153.

154.

Patient passes large quantities of urine, This condition is called as ‘

60
CCyrGureaflesr erebTug 66
A)  Qpra o . B} aomiGuomes
C) fCGar e | D) qqélb.
Troponin is a/an
A) enzyme B) - hormoneﬂ
C)  amino acid D) protein.
GBLE STDTD .ovoorrreerrrernee. AL 5wmmu®ﬂm§.
A Oiydé | | B) arieflur
C) Qm;sreiu D) | Py,
Blind spot lséresent in the
A}  Pupil ‘ B) Cornea
C) Lens D)} Retina.

Cprurefsst sifle el Aprr s flugHE eerer Qi ?
A) Aeraslargiur Bl  uredgueSur

Ct - urelyfur D) urellGudwr.

A

"A) Glycosuria B) Polydipsia

C)  Polyuria ‘ D) * Polyphagia.

~
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155. &psaain. arsdlutisaas sauaf ;

ampn (A) : erigoadn apriGordr - Quedksefd @bs aortQuore
' NI OTHE 2 safIpg. |

sryewib (R) : Qg ycvsefie Qe tevgdlud Gledsamen ST ADE.

' @G‘ut_i_)apjefr :

A) (A) vppie (R} @@ ef, Gmgu@ (R) erebLigy (A) ahe sflurer alendsd -

By @A) Lo'gb@ub_ (R) @U_Gcﬁsr_@m afl, Quepb (R) erstugs (A) elibg sflwre aﬂm&&mé‘ow

C) (A) efl geome (R) m@

D} (A} geup i (R) s,
Consider the follbwiné statements :

Assertion (A} : Luteinlzlng hormone — In the female it is the hormone’ for

ovulation,
Reason (R): - In the male, it stimulates the interstitial cells-
Now select your answer accordlhg to the coding gch'eme given bélow :
A) Both (A) and (R) lare ﬁﬁe_ and (R) is the correct ekplanation of (A)
B} Both (A) and (R) are true, bﬁt {R) is not the correct explanation of (A}
C) _ (A} is true, but (R} is false

D) (As false, but (R} is irue.

156. BYDY SLSSeEHSHES 2.STTCRIOTS 2_eieTema
A) 249 e &oTEdT LOHRID @mlr_mmeh
B) . angiblest whpin Herig. e
C) c;,';ﬂma_eb Carremavedn whpd B e NOmaLiflei
| Dy é{@ml;e'g G&;N@@s&r whgd S -fereder.
| -‘x [ Turn over



Examples of neurcotransmitters are
A) | adenine and guanine
B) thymine and cytosine
"C)  acetylcholine and ndr-eplnephrine
D) . acetylcholine and adrenalin.
157. @uan® Py Jraeerés Ge-Cu 2 dier shflin eadrarCleudip a;mpdmpu@eﬂmg ?
A) | Bly, CrmrenGuen B) gbeneh .
C) QI.G&TIS}.GU)IJ"L'._@E:@T D) enseliev.
The junction between two neurons is called
A) ne;xrospace B) axon
C) dendrites D) syﬁapse.
158. L ALélCanrgpelt ergeiméy grado@alsasiu@dng 2
A)  HCI B) OQuufGenmgei
) choder D) Qpefle.
: "l‘ljypslnogen is activated by
A)  HCI ' B) Pepsinogen
| C) Trypsin D) Renin,
159. Gsmgwid Libly srsisrugj
A)  Qeogiet K* & uflars Qeabaudf] Na* 2 Gaagipd
B) Qeader Qamsrararae Hlaawrs aeabs 2 gabd apbélubrer qerpl
C)  Guliruredls urwedTgenmed @)ger Q&meb Hosstu@Hpg!

D) @@ 0 e sréeumi.

x(1@s]
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63 | 2sA2

The sodium pump-

A exchanges extracellular Na * for intracellular K+

B) is important for maintaining a constant cell volume
C)  can only be inhibited by metabolic poisons
D) - 1s an fon channel.

Qedsd ghselidn Qeuarss amaurdiu soelTe Sdbeog sms oeg BrbY 28

A} Qered Qupad | B} GuiLfén 2 eun@sd

0 . ortSGurOgen ey | D) gdupsndGuaye.

161.

162.

The procesé by which developing cells achieve their functional, mature identity
as liver, or muscle, or.nerve is called

A) clea'vage division " B) pattern formation .

C) morphogenesis : D) di.ﬁ'erentiation

G\uq;murrgm Qqu.uu.lmq.é.a,sfr 2 pusdlur@d 2 puiy

A) Q&snga: a‘ﬂmurrtu@ spuyssh - B) CuflGiuys NburiE e puysel

C) - wapséiow SdLmi® pliyset D) GméGjﬂGuggsiu.
Most antibody is synthesized by

A)  Central Lymphoid organs B)  Peripheral Lymphoid organs
' C} Primary Lymphold organs _D} Macrophages

@Lqmn.uﬂsfsr .................... u@ﬂuﬂé: allhm 2 L Gedgb.

A) | afeothig gimeuld B)  eupGeupy sy

C). el GiBeud D) wpdu s® ued.

1
1

. Region where the sperm enters into the egg cells is

-A)  Animal pole ' : B}  Reception cone |

C) Distal pole D) Equatorial plate.

xes). [ Turn over
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64
LdvaSibgl BIEOPHD coovrerrrnctnnee. allevtidlés e Qunfing.
A} yGpmgé | B} upeneusel
C) epréefllsel D) @eveu semardgib.
Polyspermy occurs in the
A) -Urodele B) Birds
C)  Arachnids D) Al of these.

164.

Beuenenllés psiT aemen, &G, &G Smpisaen Carppialis@id gratqusidl ag

A) - 2L & gramgusd B) i&0aadlureds greomgusd
Ci qu g resdluredd gradmguéd D)} gao@eu curd gramawsdl.

The developments of the forebrain, eyes, the nose rudiments of amphibians are
induced by

A)  Trunk inductor B) Archencephalic inductor

C)  Deuterencephalic inductor D) . Spinocaudal inductor.

165.

'efgpég,dm; ansdlubisemad seueh

mhp . (A): g@TLé Qeacler . Cuaourudles ey -Quilyoeded
&reiuBEpg. '

&Iy 6ooT (D (R): Quitgoadld alhgs Qehme Qeudul grebmg é{é@grr@&rrtb
- aft SNeoaowus graon al@Hng. '

@mm-w=

A} (A vppid (R) Qo &, Quguid (R} ereitugs (A) oSpe sfurer afenéeid

B (A) wppd (R) Grekion o, Gogub (R) asug (A) alipe sfurer efenésnde

C)I (A). s gerd R) seup

‘D) (A) poup e (R) el
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Consider the following statements :

Assertion (A) : The egg contains on its surface a chemical substance called
‘ antifertilizin.

‘ Reason"(R] v Fertilizin activates the sperms and initiates acrosomal reaction.

Now select your answer according to the coding scheme given below :

A)  Both (A)and (R) are true and (R) is the correct explanation of (A}

e Both (AJ and (R) are true, but (R} is not tho correct explanation of (A) «

C) (Als true. but (R} is false

D) (A) is false, but {R) is true.

166. Sdraipaerapgeh ag sflurs GQurehadpg ?
A silgleuet _— —_ adiriy sédeowu sfefsdpg
B) spgeder L - Sl Cumen sy e Gtoﬁ)ugdlu.ﬂdu oreyl
' Quirelr 2 efremgy
C) gGo'ufrunﬁtb - Qé,:gn@mfn |
D)  yCymgurGevrd — B
Which one of the following {s correctly matched ?
~A)  Adjuvent — enhance the imrmme response
B) Addressin | —_ a carbohydrate on lymphocyte surface
C) Isoform — poly;norphirsm
D)  Proteasome —_ cell tumour.
167. saelyedes m&g;rerruﬂuiéfu CusBrmCug) SebaphE 2-gab Ged
A) @a’m'_ﬁ’q@l&_mﬁi Qladvael B) emustapres Cedmen
C) @udour Qeduams | D) QL_mu}rﬂé. Qacuasfr.
Macropha.ges lining in the smusolds of the liver are
A)  Interdigitating cells B) Langerhan's cells
C] Kupﬁ’er ceuo - D) Dendrltlo cells. .
x[T405] | | [ Turn over
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168. &eurss Grllst Gamenps Eyaud aghe Hoew TOEHSETL LTS elehedHng ?

169.

170.

A) Qeweler Gpm el s dlpes

B) Q&uJG:\JLB]@ Crmis erdit Oy Slipest

C}  qpuelip GupucL Cpmis ergliriiydlmen

D) @eGer Crmi erfliriyp e,

Mucous secretions of respiratory fract is a good exaniple for

A) ' paésive immunity ‘ B) active 1mmu1-'11ty
C) acquired hmunity D) innate immunity-
Qiadveufl Crmils aé\ﬁﬂQﬁélgos&r agb@ Lpedlpg

A eagev Ggrppsgeianteat Gedhsmmen cgqlﬂﬂlug]

B) Uyt Qedsmer yflsss

C) wrhdi G\urrqr,ﬁ,g,ﬂu&;ﬂ&é:&msn Brrafigd

D) @Gmsu 2T HHID .

The cell mediatedirninunc response is rés_ponslble for

A)  killing cells infected by viruses ' B) kﬂlmg tumour ceﬂs
C)  rejection of tiss;ué tfansll)lants | ‘D‘). all of these.

s blwdersls uHHw Geup e TS erg ?

)  wailg 2 el fasdflu seralle Capeneuli@eue

B) wduatsdsdé whdausrs @nssrg

C) z2refle emn_dlud Sfswrs @ohsre QB&LI6d areflubd uTeETENE

2 BTSSP

D) eveul Ll fo 2. Qarer@psanrd srblugder BéaH gtanpeou 5H&ES

QPRYb.
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171.

172.

67 | ZSA2
Which stateinent about cadmium-is wrong ?
A)  Required by human body in trace amounts
B) Completely absent in an adult
C)  Excess cadmium in body causes negative calcium balance
D) Cadmium toxicity can be preve#ted by increasing intake of vitamin C.
Byt et @upens cuethsenmeug) 7
Al veaflgaier uwe&iuwﬁ,qﬁ)@&;bu @eharaniiseflesr Syenay ienoib

B) wéﬂg,euﬂsh Qeussetre @eueuehaefer Lkt ser &Sy

O Afigena) e uGuTdlsaiu@l euethiseh

D) Qurp Sieney Heoowurssd sremiu@d.

Mutable natural resources are those whose

A)  availability depends upon method of use of man

B)  quality may be degraded by man's activity

C) | consumptive use is small

D) . total quantity is static.

Qubens whpid Geomeurer G teayeien aumpall Gpé uGdlow ePHLSGausDE
A] EMLOIL - LDGTOT L euiD |

B) U4 Gumpid wedot b

Cl  &nlfuugd wao b (DEUTEHD (PO )

D) eleusris wedoiLeib ( HWTEHD (YD ).

Which represents natural and minimally disturbed ecosystems ?
A)  Core zone

B) Réstoration zone

Q) Forestry zone ( Manipulat.ed )

D) ‘ Agrit:ultura.l zone { Manipulated }.

_F-144 ] x[1408] " [ Turn over
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173. dpsacocupper ag Gubmsdie QgrLibs HoLsarsg ?

A) o - B wewm
C)  efleury (LPG) D) &m@. |

Amoné the following categories which one belongs to non-renewable resources ?
A)  Water B) Soll

C) LPG D) Forest.

174. Spbado. sappsener s

L uabgreughset Ybhller Gué nﬂpé.amq.ﬁ Qurgs eefldlée awri
65% Syeneneu Slydlsdenpen _

II.  usbsreughsed wldlar Gud aflpbsmgu Qurps eqefldle swnrf
85% Syevemen Slydladlepe

. usperaghsst Hrdsgd Curgs qeliied swri 50% semee
vashiseahuaeh Hiyflsderpen

IV. uepgraghse Hrdlagd Curis gelldlée swort 75% erea
ushsadshsd fydsdlames.

@m{bgﬂé) :
A 1&IVafuratensu . B) 1&Iisflurerency
C) L& I sfwrareneu D) 1 &IV eflueneasiancu.

Consider the following statements :
I.  Green plants trap 65% of the total solar ehergy on the earth.
H. Green plants trap 85% of the total solar energy on the earth.

II. Chloroplasts trap nearly 50% of the energy that trapped by the green

plants.
IV. Chloroplasts trap neari‘y 75% of the energy that trapped by the green
plants. |
Of the statements :
A) I & IV are correct . B) I & III are corTect
C} 1 &III are correct D) Il & IV are correct.

x 14001
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175. &pbaaon_ mrr&é.\nu&a»mmé; seauef ;
ambpp (A : sr@sdh, glad, ypsd wppd aerelete Curdrp Gubes
aueThiseeT Gelbleur® Gyagib urgsrsgl, Cubudds Gmd'm(pw '
sryed (R) : shpé@ps (Lrgsmiy ) sCb, 1986 — Sifley 48A
@leubpuefr : |
A)  (A) wHpb (R) Gyeoi@io o
B)  (A) whpd (R Grenid sa
Cl (A sup geame (R &)
D) .(A) afl g emrés (R) peupl.
Consider the following statements :
Assertion (A) :Citizens are requested to protect and improve the natural
environment including forests, lakes, rivers & wildlife.
Reason (Rj:  The Environment { Protection ) Act, 1956 - Section 48A.
Now select your answer according to the cddlng scheme given below :
A) Both (A) and (R) are true
B) Both (A) and (R) are false
C} (A} is false, but {R) is true
D)  (A}is true, but (R} is fa.lse_.
176. spflev wenp @geormen g@u@eﬂmg; ?
A) meeti wreamLugTe B) LB wTEL BT
C) srHm wTFHL_CUST D) @enen semeotHgib.
A&d rain is due to '
A} - Fresh water pollution B} Seawater pollution
Q) Air pollution D) Allof these.’
x[1403 ~ [Turn over
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177.

-

178.

70
QERTL 65T euomé F&HeD @B srgamnrs HLbsg
A)  srHp u:n’&am_a.{ ‘ B Bt s em_ey
‘C) mc&m bFgeI | D) Blemeu SemeETHFED.
London smog tragedy was due to
A}  Air pollution ' B) Water pollution
C) Soil pollution D) Al of these.

sflypasdle eaurwbd o ulflachedr 5mmemmm.|mqﬂé> & [peu sue eup sl

‘2_GtoTemowdDG ?

I cueersefé eurqpid 2 faelr
. Senaeh genes Gours o Qi CeTamgmeen
.  Senaeh savrmefles sdgpboLer ou Gursp Sely sremiupd

V. cugGamaprevee 2 Ofiser.

@mm@m :
A 1w @b B) NMuwul@h
C) IVuol@b - D) Ilw @b.

Which is not the adaptative feature of the animal living in Estuaries ?
L Burrowing animals
I Abcessory respiratory organ is present in ﬂshcs
HI. Sac like conjunctive 1s present in the eyes of fishes

IV. Stenohaline animals.

Of these :
Aj Ialoné B} I alone
C) IValone | D) Il alone.

T



[ & ]

71 28A2

179. uCiqwd Ig utnue Mo Ldér Quresdl, #Cp CQer@ssiu oo Giihsamens
Qaradon® qrﬂturrem aflerL ey CatpOa® :

uCwd X

ucigué I

Uiremp ﬁlmm;ﬁg soqugdl o iflsefr 1. &L Qeuefremfl

weoé Plenphs semusH e diflsst 2. Byrsen
Cepy Fleppes senyugd) L faer 3. uveeriUTeapse
Spmipé ;»éng@mgﬁ ue$ 2 diflser 4, quaftﬂmrr.

1

3

(]

W b W

2

& B W kA

Match List 1 correctly with List IT and select your answer using the codes given

Rocky shore fauna .

Sandy shore fauna

a
b)
9
d)
SHEQs :
a
A) 1
B) 2
c) 2
D o1
below :
a)
b
c)
d)‘
Codes :
e
A} 1
B) 2
C) 2
D) 1
x[1403]

‘List I

Muddy shore fauna
»Sublittﬁral zone fauna
b c d
2 3 4 .
1 | 4 3
1 3 4
3 2 4.

List II

1. Sea cucumber

2. Murex
3. Coral reefs
4.  Aplysia.
[ Turn over
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180. l_lrﬁaﬂeﬁr ufleotmiod anéﬁm&f&@ adlprer &by afwteeatd erg 2
A)  ue 2 Ifselld ase L glyseh sraTiuhoos Sigl allendaaldvencn
B) a_uﬂtﬂemﬂa';r @am‘.n@ﬁ@im Hpenesr senasadlanre saoébiHEDg
C)  wrSud ayf smﬁg.;éamm Gm@urr@assfrv sBHHe Garereriu aldeane
D) 'ut&uﬁidu G phlene ﬁnsug(ggrr@ Ceirbhg wrpdletpg erebiueng suellypsadipg.
One rﬁajor criticism against Darwin's theory of evolution is that

"A) It does not explain the presence of vestigial organs found in many animals
"~ B). It overestimates the reproductive capacity of organisms
C) It does not take into account variations with heredity

D} It presses that environment on earth had been changing through the ages.

181. Cauwér uflesormion .cuh&m;rs s walld 2.0F Caranfluams aletddluat wrt 7
A) lg,Gr)_" S B) umevéer
C) Qufdn D) Lrieler.
First life formation ﬁough chemical evolution was expla.ihed by
A)  Urey’ ~ B) Pasteur
" ¢} Oparin D) Darwin.
-182.' é]éﬂsﬁ Qeés el areiieumgy wGaflurallarre urdlsaiuBpere @mg)ésé}airmgj 7
A Cpmi aftiy Hpoen sfsiLGbgndand
.B) Fhgiiflowu fégeaugparar urbsdtaamen gurflugerrd

C) ﬁﬂguﬂtﬂ -@mﬂ@uab&mb Qsilw CaeveulL@id (WoHHL &HFL Qur-r@smv
@op&dlapg |

D} gugdifleow, argpd G wréu weflg 2 Leleflmbg wrppeug:.

x[3403]

-t



Fos,

1]

73 . zsA2
By what method does the sickle-cell ailele ifeduce susceptibility to malarta ?
A)  Improving the efficiency of the immune reaction

B)  Helping to produce a substance that poisons the pathogex_i

C) Rcdi.lcing the concentration of critical nutrients that the pathogen needs to

reproduce

D)  Forcing the pathogen to shift its habitat use in the human body

183. gsedipet oifrey @onbE B Gpeigid amupb Heaemoiy Qgsrrc&m_ SeNesio
A) HCenfwev B) semurey |
O I %rﬁj@s‘umn - D) gflwev.
The possibility of survival in the lesser concentration of oxygen can be adopted
by '
A)  Clarlus B) Anabas .
C) Aﬁguﬂla D) Arlus.
184. péasaraurpger Cari ur® peeN BRIV .ovvereerernne. & Sl L gl
A)  Cuflen ' B} uritefer
C) evQuerst D) Ganéad.
The concept of survival of the fittest was first given by
A)  Oparin . " B} Darwin
C) Spencer D)  Haeckel.
185. CamPllietr s@® wad apeiy BrLe@se SdCwraiurane sifleurs GeuefCuppPpg.

O\ [ M CLAY
A)  apgrengut giflé curphpans B)  apsTenpuwl penteuet erem
C) (A wppd (B) Gycto@id D) @eubpst ageapbidane.

x [1463] [ Turn over
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The chick embryo excretes ammonia for first days. This shows
A)  aquatic ancestry : B) reptilian aﬁcestry
C) both (A) and (B) D)} none of these,

186. ufleimné QewhuTiig adp Erane arpflua

A oSGuoer B) . k. sv@LNeren

Cl  aorig-aférQuid | ' D) Lrielén. :
The book "Process of Organic Evolution” was written by o0
A) Weismann : ~B) G.L. Stebbins

C) Hardy-Weinberg | D) Darwin. |

187. wyillweyib eﬂgb@suré, Carempeyd eTesTD grrs&aeo aapdlueut
A} Gumusrensdl B; | ). 6. G Setmev |
C) Caopésée D) surrpm‘ré..
"Genetics and the Origin of Species” was written by
A) . Dobzhansky B) G.L. Stebbins - 3
Q) Haeckel | _ ‘ b) Lamarck. |
188. os0Lrerel Qemfibpiud @ehe = sadipg ?
A)  Oprdlect ghpsose Bl @od ai Sfus s TACEE

C) CyrCurlsmd Geudh Gummetr D}  yGyriCumlemrs GeaufllQur@st.

Ouchterlony technique is used in _ ' 3
A)  Enzyme similarities ‘B) Cofnparatlve serology .
C) Chromosome chemistry D) Protoplasm éherrilstry.
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189. ugbuey @er e ullfleksgsdr Ut pefiowiuEssuu L. Grefle @EsoD

G spQeranasdle o flahs@d GRsE sEHYNSSH weob whPlaid yfu wrpuie
ApPlerid 2 meureug erebeurgy SIBWCIGEDG ?

A Cupr@ufs Ggreyblene B) @m.rrmt_in Caiteyfleme
Cl  eCarurlfée Carayblae D) edouri s Gateyblane.

The budding off of a new and very different déug_hter species from a
semi-isolated peripheral population of the ancestral species in a cross fertilizing
organism is called as |

A Parapatric speciation B) Quantum speciétion -

C)  Allopatric speciation ‘D] Sympaﬁ10 speciation,

1190, fsard vard @hdurale kg sraTiLGHDE ?

A updogr 2 flu Gagrad B) dlpse voegigmi
C) Aoy Capdu yhsr D) Cuhe Qsma»;b(ag,m_r’r.
In India, the llon—tailed Macaque is found only in |
A) | Bal'ldipur Blosphere Reserve B). Eastern Ghats

C) - Guindy National Park D) Western Ghats.

191, &ﬂ)@é@p.eﬂdn g;abrugfras aferbigid wsdQaraed g ?

e

© A) DDT | | B) Lr&Garsele
C) 'BHC | D)  Syenumg Gy e
The ecofﬁendly pesticide is

| A) DDT 7 B) Toxophene

C)  BHC | D) Azadirachtin.

1403 ' - [ Turn over
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192, #8p QerPssiuerendler sflurerg erg 2
A)  sejureTseh aps auTpens aurpdlepg
B)  wGeuflur, m@aeﬂ smigsd i@ Fullanrd u&ﬂutﬁu@éﬁrp@
C) aiQsamarl. go sflo Wi Cardelast | |
D) UL@DQ#Q@@I Qeaydeurs erebigpid CQuTmer He_&flpg.
Which of the following stéﬂ;ements is correct ?
A)  Termites are colonial insect
B) Malaria, Yellow fever are trgnsmittqd by housefly
C)  Arsenate is an organic insecticide
D)  Shell lac fs obtained from silkworm.
193. Gg;coftﬁlé; WETHSIIU STLLDD ST |
A) e bty ardser B) (et writy srdser -
C) BB oty srde | D) (B) whpi (C) Greia®d.
1h bees pollen basket is present in '
A}  Prothoracic legs B) Metathoracic legs
| C)  Mesothoracic legs D) Both (B) and (C).
194, af@efrenénsuudr e Colblys graflugeag @b Wedlurgb 2
A) é:'IG’wrro%Lﬂwsfu .@sa;g@m: B) Csa@arGsrdlyrasy emeClamardlay
(o) | L CyrCan@lL.itGw HyGerflud 15) Beneu SIS GID.
Which of the following is the pest for stored grains ?
A)  Silophilus oryzae ' B) Callosobruchus chinensis
C) Trogoderma granarium ‘D) All of these.

*(1%09] |

%,



s 3

12

195,

196.

77 | ' Z8A2

af’siqa(%masﬂmrr fpould - 2 (HEUNGD Heom el ereiip CHTUTETH  ..occovcevreeennen, pebd
LrLtLOEPS:.

A epleliygsd B) Qug@ewsy

C)  wan ysé \ D) &yeben,

Kala-azar is a disease caused by Leishmania and is transmitted by

A) Bed bug | | B) Pediculus

C}) Sandfly D) Culex.

Slsayb 2L yppeten ‘u’@g‘ﬂ sroflud srivCarlLrs wrpdipg. SHsd ugHouCu

‘\phgaldr sl Farpepsaiu@dipg ?
A QufiGureéngysn B) Qufisuogs ugd
C) Qeuefliyp Cgrés D} Opéfus ugdl. .

Which is the innermost layer formed of calcium carbonate and called as "Mother
of the Pearl" ? '

"~ A)  Periostracum B)  Prismatic layer

197.

Q) Ectoderm D) Nacreous layer."
Lﬂs&r;u@mmm@@sfr oy sflure Qurmbafipg 7 |

A)  CuAlCurer eriLmyET —  _BrLmiyp

B) GCuélQurevriellsy Lisivs] — sdeiyd yap

C) HAevCGLrBsvmwr wrearGavmef] — @rssl Uy

D}  Geflur Gevrellud — GL6 i1y,

Which one of the following is correctly matched ?

A)  Fasciola hepatica —_ Tapeworm
B)  Fasciolopsis buskl —  Liver fluke
C) 'Schistosorna mansoni —_ Blood fluke
D) Taenia solium — Intestinal fluke,.
x[1403] ["Rirn over



Zs8Aa2

78

198. Gaafller oye Qg agamme 2 pusdh Q&ﬁmﬁu@aﬁ]’mg} ?

199.

A  Fpsreo syl , B)
C) ués QarasteoL. &yl - D)
Royal jelly in honeybees is produced by

A)  mandibular glands B)

C) lateral pharyngeal glands D)

GHIGE Y eredTUg

A ey Crmiflwen B)

200.

C) 3, ss1en & Boor e GLminm D)
The pin worm is
A) Enterobius B)

C)  Ancylostoma D)

£Q) z.Q;@ GHIL‘.IIj]

eulipgy sgod.

labial glands

abdominal glands.

.7 & 65T (G ue

CrliemLLLig v,

Dracunculus

Rhabditis.

By sr u' @ @yriéd Hevawd ghuBHsiui @b

A)  syevenmd " B)

C) b whpid STl D)

Muga silk research station s established in

A) Assam _ | B}

Q) | Jammu and Kashmir ' D)

Guasreuwr

sOPBT@.

Meghalaya

Tamil Nadu.
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Time Allowed : 3 Hours } [ Maximum Marks : 300

Read the following instructions carefully before you begin to answer the questions.

o

10.

11.

12.
13.

IMPORTANT INSTRUCTIONS
This Booklet has a cover [ this page ) which should not be opened till the invigilator gives signal to
open it at the commencement of the examination. As suon as the signal 1§ received you should tear
the right side of the booklet cover carefully to open the booklet. Then proceed to answer the
questions, ’
This Question Booklet contains 200 questions.

Answer all questions, All questions carry equal marks.

The Test Booklet is printed in four series e.g. or [D] (See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the series of the booklet.
For example, if the candidate gets series booklet, he/she has to indicate in the side 2 of the
Answer Sheet with Blue or Black Ink Bail point pen as follows :

[A] [ (B1ic1D] :

You must write your Register Number in the space provided on the top right side of this page Do
not write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated.

You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point ben
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to
encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses (A}, (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In casé you feel that there are more than one correct
response, mark the response which you constder the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

In the Answer Sheet there are four brackets { A}l [ B i C } and [ D } against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, {B) is the correct answer, you have to mark as follows :

{ATRI(CIID]

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigllator. You
are allowed to take the Question Book]et with you only after the Examination is over.

Failure to comply with any of the above Instructions will render you liable to such action or penalty
as the Commission may decide at their discretion,

In all matters and in cases of doubt, the English Verslon is final.
Do not tick-mark or mark the answers in the Question Booklet.
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